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For organizing an effective teaching-learning system which of the following combinations of
statements would reflect the most appropriate concern ? Select from the code to indicate
your answer.

a) Determining what will be the intended learning outcome.

b) Deciding as to what strategy and tactics will be used.

(c) Formally approving the academic qualifications of teachers.
(d) Determining the evaluation tool to be used.

e) Deciding the size of the classroom.

(f)  Assessing the prior academic experience of the learner.
Code :
Options:

91394316201, (), (c), (d) and (e)

91394316202, (a), (b), (d) and (f)

(a), (b), (c) and (d)

91334516203,

91394316204, (©), (d), (e) and (f)
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(a), (b), (c) 3R (d)
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In order to promote direct learning which of the following methods would be best suited ?

Options:
91394316205, 1 eam teaching method

2 B
91394316206, Project method

= - .r‘ - -:I l-.
01594316507 Lecture with examples

91394316205 LIScussion session
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From the following list of learner characteristics identify those which will be helpful in ensuring
effectiveness of teaching. Select your answer from the code.

a) Extent to which learner obeys the school rules

=3

) Learner’s level of motivation
) Feelings of learners towards the social system

d) Learner’s interest in sports and games

T i amal iame
@]

e) Prior experience of the learner

(f)  Interpersonal relations of learners
Code :
Options:

(a), (b) and (c)

91334516209,

(), (d) and (e)

91234516210,

(@), (c) and (e)

912334516211,

(b), (e) and (f)

2915394216212,
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Correct Marks: 2 Wrong Marks: 0

Which devices from the list given below will form part of formative evaluation ? Give your
answer by selecting from the code.

(a) Conducting a quiz session

b)  Giving multiple-choice type questions in post-instructional sessions
c) Giving a mastery test

d) Providing corrective feedback during discussions

e) Encouraging opportunity for metacognitive thinking

(f) Grading students” performance on a five-point scale

Code :
Options:
91394316213, (a), (d) and (e)
91394316214, (), (b) and (c)
s1394318215. (D), (€) and (d)
91394316216, (d), (e) and (f)
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(a), (b) 3R (c)

912334516214,

c) AR (d)

91334516215, (b)’ (

(d), (e) 3R (f)

912334516216,
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Below are given a number of key behaviours as well as helpful behaviours of effectiveness of
teaching based on research evidence. Identify those which are key behaviours and indicate
your answer by selecting from the code.

Structuring through comments by the teacher in respect of what is to come.
b) Questioning through content and process level questions.
¢) Lesson clarity implying the extent to which presentations are not involved.

(d) Probing which implies statements to encourage students to elaborate.
(e) Engagement rate devoted to learning when students are actually on task.

f) Rate at which students understand and correctly comprehend assignments and
exercises.
Code :
Options:

91394316217, (a), (d) and (e)

(b), (c) and (d)

91334516215,

91394316219, (), (e) and (f)

215394216220, (El), (d) and (f)
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The paradigm of research which focuses on the development of professional expertise of the
researcher-practitioner is called :

Options:

2 . -
91394316001 Lure research

51394316292, Applied research

. .,’ l_| .
91394316223, Action research

150431600, QUalitative research
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Which of the following statements best reflect the meaning and characteristics of research ?
Select from the code to give your answer.

a) Research means challenging the status quo.

b) Research is an endeavour to collect facts and information.

]

) Research is a synthesis of deductive and inductive processes.
d) Research means proving one’s assertions and beliefs.

e) Research is a careful review of reported studies.

— — p— — — —

f)  Research is a critical and passionate search for knowledge.
Code :
Options:

(a), (b) and (c)

91334516225,

(d) and (e)

91394316226, (b)’

(a), (e) and (f)

21594216227,

(a), (c) and (f)

91334516225,
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(@), (b) ¥R (c)
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In the two sets given below, Set - I specifies the methods of research while Set - II describes
the critical feature associated with a method of research. Match the two and select from the
code to indicate your answer.

Set -1 Set - 11
(Research methods) (Critical features associated)
(a) Experimental method (i)  Generalizing to the population from a large sample
(b)  Ex post facto method (i) Establishing the patterns of events which have
happened, through primary and secondary sources
(c)  Historical method (iif) Studying shared behaviour patterns
(d) Ethnographic method (iv) Establishing cause and effect through control

=

Probing into the causal factors from the observed
effects

Code :
(@) (b) (c) (d)

Options:

12334516229, (IV) (V) (I_I'.) (I_LI'.)



91394316230, 0 @) (i) (i)

o139431623. W) (1) (i) (V)

91334516232, (I_I'.) (l) (I'.V) (LLI'.)

Question Number : 8 Question Id : 9139434131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

= fou e 2 9=l § 4 9q=ad-1 Y &1 9yl &1 e #7aq €, seie aqeed-11 Y &1 &6
fafy 4 Heifua weergol fasrad 1 9vfa #3a1 €1 39 S 1 GAferd #3731 3T =1 S1d 9 &
fee 2 =1 I

weaa-l q=aa-11
(oirer Taferat ) ( Heifera ugeergul fervreand )
(a) ETTICHS fafy (i) T geq Uides H FHI T HHARR
(b)y =R fafy (i) ga-=fed S & EEUl S g=A SR 0 Eidi & "eg
Y e T
() Ufcaifee fafy (iii) TS SHEEHI h T T ST HAl
(d) T =iy (iv) fsm & A § SR SR g @ i

(v)  Uferd grel | sHROTeR SRR 1 Ol ST

'91394.316229. (IV) (V) (”‘) (I_LI'.)

@) (i) @)

91334516230, (1)

91394316231, (i) (@) (1) (v)

i @ (v) (i)

1334516232,

Question Number : 9 Question Id : 9139434132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify those stages/steps of research in which ethical considerations become relevant.
Choose from the code to give your answer.

a) Identifying and defining research question.

b) Postulating relationships among variables to advance a solution.

(

(

(c) Collecting data through use of research tools.

(d) Defining the population and sampling procedure.
(

e) Data analysis and procedure employed.

(f)  Reporting procedure of findings/results.

Options:

(a), (b) and ()

B91334516233.

91334516234, (C)" (E) and (f)

(b), (c) and (d)

B912334516235.

(b), (c) and (f)

B91334516236.
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(b), (c) SR (f)

12334516236,
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In the two sets given below, Set - I provides the format of presentation and Set - II gives the
distinct features to go with them. Match the two sets and select from the code to indicate
your answer.

Set -1 Set - 11
Format of presentation Distinctive features
P

Thesis/dissertation i)  Based on free-wheeling of ideas

L

Research paper ii) Target oriented group based reflection

.
2

c¢)  Workshop Reflective deliberations based on specific themes
d) Seminar iv) Presentation on a summary of research done

v) Systematic prescribed format
Code :

(@) (b) (o) (d)
Options:
41394316237 (i) (i) (i) (v)
91394316238, (i) (i) (i) (v)

91394316239, (i) (1) (1) (v)

91234516240, (V) (IV) (I_I'.) (I_LI'.)
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Single Line Question Option : No Option Orientation : Vertical
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Read the following passage carefully and answer the questions from 11 to 15.

One of the findings of the research into successful leadership is the fact that respect is
always a two-way street. No matter how powerful you are, no matter what your experience,
skills, and accomplishments, you will not be respected by others if you consistently treat
them disrespectfully. Friendliness - that is, treating others politely and showing interest in
them - is a way of showing your respect for other people, and in return they respect you. If
as a manager you are respected, your preventive maintenance strategy will be accepted as a
sincere attempt to resolve problems rather than a mean-spirited attempt to cause problems.

As important as friendliness is, | want to make sure you are not mislead into believing
that friendliness will replace or correct poor management. [ have seen effective managers
who didn’t use this friendliness element but could have been more effective if they did use it.
I have seen very friendly managers who were ineffective because they were not doing effective
management things. In other words, managers who intervene effectively in a friendly way
are always more effective than managers who intervene effectively in a non-friendly way.
Maintaining a friendly relationship is another part of maintaining work performance. It also
helps you avoid having people try to hurt you because they don’t like you. It might save your
life.

Sub questions

Question Number : 11 Question Id : 9139434135 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is reported in respect of successful leadership ?
Options:

spec 50 ience o ship.
a150az1aoqy  RESPECt depends on experience of the leadershiy

01394316945 Respect depends on the skills of the leadership.

Respect depends on the accomplishments of the leader.
91394316243,

L‘ 5 @ ‘I I..| " " L‘ 5 L]
1504316044 RESPECE COmes out of respect

Question Number : 12 Question Id : 9139434136 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
The passage highlights which of the following feature of a successful leadership ?
Options:

Independence of the leader
91394316245,

Dependence of the leader
91394316246,

1 ' -1 r -
91394316247 Reciprocity of the leader



Least concern for relationship by the leader
91394316248, 4
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The preventive maintenance strategy used by a respected manager will mean to the
subordinates :

Options:

1304316040, A1 attempt to cause problems

Al ¢ ot to res b g
91394316250, An attempt tc resolve prc blems

ot to beco -spiri
a1z0a3160s; AN attempt to become mean-spirited

An attempt to become sincere
91394316252,

Question Number : 14 Question Id : 9139434138 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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According to the passage friendliness in management terms implies :

Options:
Rep[a ::ing poor management
91394316253,

Correcting ineffective management
91394316254,

Making management ineffective
91394316255

Making management effective
91394316256
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The central idea of the passage is :

Options:

Friendliness is necessary for management.
91394316257, J ?
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In communicating in a classroom situation which one of the following approaches will be
considered most appropriate ?

Options:
01394316561 Assertive and conformist
Technical and domineering
91394316262,
b 1 - - k=
] L "
01504316265, Personal and emulative

Empathetic and pragmatic
91394316264,
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Correct Marks: 2 Wrong Marks: 0
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Options:

7 T ST

91334516261

_aﬂa“r@iaﬂwﬂ

91334516262

=il T SHEREH

91334516263,

- TEIY(TH T AR

91334516264

Question Number : 17 Question Id : 9139434141 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following constitute the paralanguage in communication ? Select from the
code to indicate your answer.

(a) Pitch of the voice (b) Internal noise
(c)  External noise (d) Use of pauses
(e) Rate and volume of speech
Code :
Options:

(a), (b) and (c)

2915394216265,

(b), (c) and (d)

91394316266,
91394316267, (@), () and (e)

(a), (d) and (e)

H1234516265.

Question Number : 17 Question Id : 9139434141 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

H91234516265.

91334516266,
91334516267,

1234516268,

Question Number : 18 Question Id : 9139434142 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following would influence the effectiveness of communication in classroom
instruction in a critical way ?

Options:

T e : ﬁ.
— Subject knowledge of the teacher

Academic intelligence and personality characteristics of the teacher
91394316270, J

Teaching style preferred by the teacher while transacting
91394316271, - 2

a150aziaare 1 €aching aids used by the teacher while making presentations

Question Number : 18 Question Id : 9139434142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

91394316269, ieten <1 faua g I



fo1eter 1 AFRHF FEHT IR Al Ga faan

B1334516270.

foreqor =l =1 fopannt=afa & T0a et g/ S <1 8 el

91334516271,
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91334516272,

Question Number : 19 Question Id : 9139434143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0

A teacher decides to form six groups of students and assigns a sub-theme to each group for
discussion and reporting. Which kind of communication model will best describe his/her
strategy in this regard ?

Options:

' )
1594316275, Linear model

91394316274, Horizontal model

Interactional model
91394316275,

T e l. . " 3 "
91394316576, [ransactional model

Question Number : 19 Question Id : 9139434143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0
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Options:

_“{F@muﬁnﬁ

91394316273
91394316274, arferst gfemm

91394316275, AR -TohaTeHe: FiqHT
91394316276, ERIESIGEICR I GLEIE

Question Number : 20 Question Id : 9139434144 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following is a powerful determinant for effective assertive communication
whether written or spoken ?

Options:

“You' messages
91394316277,

‘We' messages
91394316278,

“They” messages
91394316279, ’

i Tr
T—
91394316280, [" messages

Question Number : 20 Question Id : 9139434144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
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Options:

‘ y o
91394316277 SV aal Sl

+
91334516275, B R i

‘g g9 9T

91334516275,

“H' Gewr o

B91334516280.

Question Number : 21 Question Id : 9139434145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0

< 9000 were divided among a certain number of persons. Had there been 20 more persons,
each would have got X 160 less. The original number of persons was :

Options:
30
21394216281,
91394316282, 45
25
D1394216283.

91234516254, 59
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Correct Marks: 2 WrongMarks: 0
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Options:

L ]
30
91394316281,

12334516282,

(R
o

B91334516253.

91334516254,

Question Number : 22 Question Id : 9139434146 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The number of marble slabs of size 20 cm X 30 cm required to pave the floor of a square
room of side 3 meters is :

Options:

100
91394316285

1 K
91394316286, 120

I~
I~
(]

91334516287,

I~J
o

H1234516285.
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3 Hiel 1 Sl dTe] Teh RN &HHL i 9 oM & faIu 20 F2HET x 30 G<HET AR &
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Options:

100

2153394216285,

15
B12334516256.



~J

23

B1334Z16287.

23
91394316288

Question Number : 23 Question Id : 9139434147 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In the sequence of numbers 2, 8, 26, 62, 122, 212, x, ...... , the term x is :

Options:

302
91394316289

r_..,]
2J
oo

912334516230,

2,
913345162591, 248

H13345162392.

Question Number : 23 Question Id : 9139434147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
& %9 2,8, 26, 62,122,212, x, ..., HW@x¥:
Options:

91334516259,
291234516230,
91334516291,
91394316292,

Question Number : 24 Question Id : 9139434148 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In a certain code, LIFE is written as KMHJEGDF. How is WORD written in that code ?
Options:

VXNPQSEC

215942162935,



XVPNSQEC

913345162394,

VXNPQSCE

B913345162395.

1594316296, < ¥ L NSQCE

Question Number : 24 Question Id : 9139434148 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Ffqqd F2 § LIFE ®1 KMHJEGDF % 9 H foran 91 81 39 %2 § WORD &1 %4 foran siman g2
Options:

91394316203, Y ANPQSEC

a1394316204. XVENSQEC

a1394316295. ¥ XINPQSCE

91394316296, XVPNSQCE

Question Number : 25 Question Id : 9139434149 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In conveying the same meanings, which of the following is incongruous ?
Options:

91394316207, LXCItE

: ) ‘l,
2915394216235, Flourish

Prosper
91394316299,

Thrive
91394216300,

Question Number : 25 Question Id : 9139434149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0
A At 1 Tt w0 H efafea ¥ 9 $E-91 o5 22

Options:



3L (TFREL)
91394316297,

S

H13345162595.

qrs
dasf

91334516299,

91334516200,

Question Number : 26 Question Id : 9139434150 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In terms of the relationship indicated below, which word will correctly pair to replace the
question mark (?) ?
? :play::sing :song
Options:

Act
91394316301,

Scene
91394216302,

91394316303, [heatre

1334316304 Lleld

Question Number : 26 Question Id : 9139434150 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

AT
91394216301,
213942162302,

formex

215942163035,



oS

91234516204,

Question Number : 27 Question Id : 9139434151 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two premises with four conclusions drawn from them (taken singly or
together). Which conclusions are validly drawn ? Select the correct answer from the code
given below.

Premises (i)  All politicians are honest persons.
(i)  All honest persons are fair.
Conclusions : (a) Some honest persons are politicians.
(b)  No honest person is politician.
(c) Some fair persons are politicians.
(d) All fair persons are politicians.
Code :
Options:
o159451620s (@) (D) and (d) only
1304316306 (D) and (d) only
o139431630, (@) and (c) only
s1304316308, () and (c) only

Question Number : 27 Question Id : 9139434151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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% (a), (b) 3R (d)

91334516305,

faF (b) 3R (d)

21594216306,

fadh (a) 3R (o)

91234516207,

fa® (b) 3R ()

291234516208,

Question Number : 28 Question Id : 9139434152 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below is a statement followed by three assumptions made from it. Which assumptions
are implicit in the context of the given statement ? Select the correct answer from the code
given below.

Statement s ‘Smoking is injurious to health’. - A warning printed on the cigarette
packets.
Assumptions (a) People read printed matter on a cigarette packet.

(b) People make careful note of a warning,.

(c) Non-smoking promotes health.

Code :
Options:
91394316309, Only (a)
91394316310, Only (a) and (b)
91394316311, Only (b)
91394316312, Only (b) and (c)

Question Number : 28 Question Id : 9139434152 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

fa® (a)

91234516209,

faF (a) 3T (b)

H91334516210.

fad (b)

21594216211,

o (b) #AR (c)

9133451631 %.

Question Number : 29 Question Id : 9139434153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Mr. Rajesh, his sister, his son, and his daughter are fond of golf and often play together. The
following statements are true for all the four :

(a) The best player’s twin and worst player are of the opposite sex.
(b)  The best player and the worst player are of the same age.
Assuming that both twins are members of the group of four, who is the best player ?

Options:

son of Mr. Rajes
91594316513 Son of Mr Rd}&%h

ont =1
1304316314 Laughter of Mr. Rajesh

91394316315, Sister of Mr. Rajesh

91394316316, Mr. Rajesh

Question Number : 29 Question Id : 9139434153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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 ATmEwT

91234516213,

ZIRENIET Rl

91334516214,

ZIRIEMICIICES |

2915334216215,

ZIRAEN

21594216316,

Question Number : 30 Question Id : 9139434154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Five persons Amit, Anil, Ajay, Atul and Anand live in a five storey building on different
floors. Amit lives above Ajay but below Anand. Atul lives above Ajay but below Amit. Anil
lives below Anand but above Atul. In which floor does Anil live ?

Options:

1504316217 econd floor

Thi M0
91394316318, ['hird floor

Fourth floor
91394216319,

Either third floor or fourth floor
91394316320,

Question Number : 30 Question Id : 9139434154 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

UGN

91334516217,



IR UG S|

91334516215,

EIPIK|

912345162149,

1 1 T A1 =T 9

91334516320,

Sub-Section Number: 4
Sub-Section | d: 913943209
Question Shuffling Allowed : Yes

Question Id : 9139434155 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label | Comprehension

Consider the following two tables (I and II) in which table I shows the percentage of
students who joined and successfully completed the Ph.D. programme from the Universities
A to G and table II shows the number of foreign Ph.D. students enrolled in the University C.
These percentages have been rounded to the nearest whole number. There are a total of 855
Ph.D. students in the University C and a total of 5700 students successfully completed the
Ph.D. programme from all the seven Universities together.

In accordance with the tables | and II, answer the questions that follow (Questions 31 - 35) :

I : Students University - wise I : Foreign Ph.D. Students in
University C
Nameof [% of students |% of students who Foreign Number of Ph.D.
University |who joined successfully completed Ph.D.| [Students students in
Fh.lD: (out of 5700) University C

A 22 18 American 65

B 15 17 Australian 46

C 10 13 African 25

D 17 16 European 35

E 08 09

F 12 15

G 16 12

Sub questions

Question Number : 31 Question Id : 9139434156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What percentage of students in University C is that of foreign students ?

Options:



91234516221,

pliIL
91394316322, 20%

250
91394316323."5'“

30 %
91394316324

Question Number : 32 Question Id : 9139434157 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In case, there are 21 African students in University E, then approximately, what is their
percentage in that University ?
Options:
4%
91394318325,

2%
91394316326,

'_[E"'r
91394316327, '

20

91394316328 - ¢

Question Number : 33 Question Id : 9139434158 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which University has the highest percentage of students who successfully completed the
Ph.D. programme out of the students who joined that University ?
Options:
.
Q1=294316329,

291234516220,

91334516321,

H1334516332. b

Question Number : 34 Question Id : 9139434159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What is the ratio of students who successfully completed the Ph.D. programme to the students
who joined in the University G ?

Options:

P_‘!.
91394316333,

R

91394315334,

G 11
91394316335,
91394316336, 9:17

Question Number : 35 Question Id : 9139434160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The number of students who completed the Ph.D. programme from Universities A and D
together exceeds the number of students who joined the Universities C and E together, by :

Options:

304
915943163357,

278
213942162338,

399
91394216339,

369
21294216240,

Question Id : 9139434155 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehiension
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Sub questions

Question Number : 31 Question Id : 9139434156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
favafarierd € (C) | facefl SE 1 ufded =1 2?2
Options:

15 9fdqerd

2915334216321,

20 gfderd

2153394216322,

25 giderd

H1334516323.

30 gfd9rd

9153394216324



Question Number : 32 Question Id : 9139434157 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Ffe favafaane™ £ (B) # 21 sTwis! 96 € d1 39 favafaened H 371 gfasra &1 2 ?

Options:

4 gfa9rd

91334516325,

2 gfa9rd

91334516326,

5 Hiderd

B1334516327.

3 Hfd9rd

91334516328,

Question Number : 33 Question Id : 9139434158 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
o Tereafoamerd 4 398 9991 oF 91 B0 § 9 4iu=. 21, FEEH 6l Ahediges IO i 9l B
%1 I=4qH Ufavd & ?

Options:

L
D1394216329.

B
91394216330,

I.‘
91394216331,

E
21394216332,

Question Number : 34 Question Id : 9139434159 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
forvafemmer St (G) # div=. 1. S S Ihadges 0 FH 9l BE1 6 37 BE1 Sl I |
a1 &, forei 39 favafamamera ¥ yaw famn ar?

Options:
S ot
21394216233,
e
915943163354,
G 11

2915334216355,



Saly
91394316336,

Question Number : 35 Question Id : 9139434160 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fovafaae™d € (A) 3R 1 (D) § Fa oot W=l SR & 90 & 9 861 & GE&A
forgafarame™ i (C) 3R 3 (E) § Fa1 faams g3 o a1l SEi &l §e& 9 ol s1fus § 72

Options:

L | /
2153942162357, 304
7,
9139431633586, 278
L ]
2153942162359, 399
L |
-
91334216240, 69
Sub-Section Number: 5
Sub-Section 1d: 913943210
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 9139434161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mohan tells his friends, Sohan (sohan@gmail.com), Rohan (rohan@yahoo.com) and John
(john@gmail.com), date of his birthday party through an email as shown below :

To :  sohan@gmail.com
(¢ . rohan@yahoo.com
Bec . john@gmail.com
Subject . My Birthday Party ison 15/01/2019
Hello all,
Call me if you can come.
Mohan

Which of the following cannot be derived from this email ?

Options:

01394316341 O0han knows that the birthday party will be held on 15/01/2019.

01294316345 Sohan knows that Rohan receives the email.



) nows that Jo ceives
1504316345 N han knows that John receives the email

John knows that both Sohan and Rohan receive the email.
91394316344,

Question Number : 36 Question Id : 9139434161 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Hred 3794 ﬁ:ﬁﬁ, qred (sohan@gmail.com), e (rohan@yahoo.com) 3R S (john@gmail.com)
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To ; sollan@gmail.com

e . rohan@yahoo.com

Bce . john@gmail.com
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Options:

e &1 a1 & T s=afeq =1 aet 15/01/2019 &1 €1

91334516241

| Higd =1 Ta1 € T Ued =i T 9 e |

91384516242

| e 1 Ual & T S =1 30 9 2 |

91334516243

| S 1 91 © T dred TR e SHi 1 38 U 2 |

91334516244
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Correct Marks: 2 WrongMarks: 0



There are two sets given below. Set - I specifies the IT related acronyms, while Set - II
indicates their functions. Match the two and give your answer by selecting the appropriate
code.

Set - 1 Set - 11
(Acronyms) (Functions)
(a) CPU (i)  Type of technology used on a flat-screen monitor.
(b) RAM (i) Controls all the functions performed by the computer’s other
components.
(c) ROM (iif) Temporary storage, also known as primary storage.
(d) LCD (iv) Permanent storage that is not erased when the computer’s
power is turned off.
Code :
(@ ) © (d
Options:

912334516245, (I_I'.) (IV) (LLI'.) (l)
913345163246, (1) (IV) (LLI'.) (I_I'.)
2153342163247, (l) (I'.LI'.) (IV) (I.I'.)

913345162458, [:I_I'.) (I'.I_I'.) (IV) (1)
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I @ wgE fou T ¥ wue-l W e § HEfyd wee-dew fou v €, Seie wWe-1 H 3%
forameramy fou T €1 S TRl 1 gafad & 3R SUgE 2 H =999 I T ST S |

AYE-1 TE-11
(9Teg Hew) ( fomamereTa )
(a) HLWLF (i) Uk F9S BhiA dlel " T Y dahrieh |
(b) HRTTHA (i) T F = A & At HEf F AT Fa1 T
() SRSLTA (iii) SRR sEgrv, 99 Wgfhe Wervr & &9 § off S S ¢ |
(d) TAHLE (iv) Il SR S gl A fad YaE T & o1 |l 7Tl e |
e
@ (b) () (d)
Options:

2915942163245, (LI'.) (IV) (LLI'.) (l)



91334516346, (l) (IV) (LLI'.) (I_I'.)

H91334516347. (1) (LLI'.) (IV) (LI'.}

912345162458, (LI'.) (LLI'.) (IV) (1)
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The gap between those individuals in a society who are computer literate and have access to
information resources like the Internet and those who do not, is referred to as the
Options:
91594316349 ICT divide

107 LA
91394316350. Digital divide

) 10N O T
91594316351 Information overload

e .
91394316352 lerabyte divide
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ST S I HHIYA] 9% U8 dlel 9IS & P HieR SAfdadl R 39 dfadi & §d & S
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Options:

91394316349 Wg@ff TEH'IEE

i i

fefsied fease

91334516250,

b =
91394316351 AW SiElcdls

912334516352, E m
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In computer terminology, which of the following best describes a device driver ?



Options:

Software that allows the user to control the operating system.
91394316353, ‘

/ at allows ser to contro . ing system.
o150az16as, Llardware that allows the user to control the operating system

o, ] T - ‘I rl-- = g S ] -) T -] 1 -] - 3 L- - - ] -] - b ¥ L- !-L- X
o1504s163ss, OOftware that allows interaction between peripheral devices and the operating system

Hardware that allows interaction between peripheral devices and the operating system.
91394316356 v
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Options:

T2 GRS S TATET &1 Safen fawen =1 fE 33 &1 S7eel <1 2|

91394516355,

T2 BTSIAT S WA 1 AT foeen o1 fsm &2 &1 3Tee! <1 21

91594216354

I8 HiFeaT fash R0l SIS SUH iR sifaefen faen & =g oiq: foman 2t &1
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91394216356
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Using a word processing software, an image on page two of a document is to be repeated on
(@] (%] (]
page four of the same document. Which of the following would enable this to happen ?

Options:

Cut and Paste
91394316357,

Copy and Paste
91394316358, ’

Find and Replace
91394316359,

Format and Replace
91394316360,
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U 9 GrAfET Wieaa? & War #3d gU, T4l Yord & g3 21 & fwdl fam 1 391 g & g 9n
TR e ol § | 39 TR § O fohg wregm | fopan smam ?
Options:

91334516357, | |\3:‘|§R
91334516358, : S:ﬁT

91334516359

_wﬁzﬁmgﬁ@nﬁﬁm

91334516360
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Which of the following statements are indicative of the vision of Blue-Revolution ? For your
answer select from the code :

(a) Promoting development of Botanical Gardens.

b) Creating an enabling environment for the full potential of fisheries in the country.

P

) Improving the income status of fish farmers keeping in view the sustainability concerns.

(
(
(d) Encouraging scientific research in forestry to increase the vegetative cover.
(e) Promoting integrated development of fisheries of the country.

(f)  Undertaking research in new areas like marine finfish.

Code :

Options:

(b), (c) and (e)

H1334516361.

(a), (d) and (f)

91334516262,

(b), (c) and (a)

91334516363,

(c), (d) and (e)

91234516264,
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91394%16361_ (b), (¢) Sl (e)
a1304316362. (@) () Sl (f)
a1304316383. (L) (€) 3R (a)

91334516364, (
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Below are given two sets. Set - I mentions the types of pollution, while Set - II indicates their
source. Match the two sets and select your answer from the code.

Set-1 Set - 11
(Pollution Type) (Source)
(a) Air (i) Point and non-point sources such as discharges from
industries etc.
(b) Land (ii) Industries, thermal power plants and motor vehicles
emissions.
(c) Water (iii) Roadway, aircraft, industrial as well as high intensity
sonar.
(d) Noise (iv) Over use of chemical fertilizers.
Code :
(@) (b) (o) (d)
Options:

91394316365, 1) () (i) (i)

H1234516366. (I_I'.) (IV) (1) (I_LI'.)



91394316367, (i) () (i) (iv)

91334516365, (IV) (I'.I_I'.) (I_I'.) (1)
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e
(@) (b) () (d)
Options:

91394316365. (i) (@) () (i)
o13943163e6, (1) (V) (1) (i)
91394316367, (i) (@ (@@ (i)

21594216368, (IV) (I_LI'.) (LI'.) (l)

Question Number : 43 Question Id : 9139434168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Which of the following provisions are directly covered in the Environment Protection Act,
1986 ?

Options:
= CL 3 . 1 il o= - S ey .
91294316369, Protection and conservation of forests and matters connected therewith
> - . , :
: ol of w ) )
1504316370, L rEVENtion and control of water pollution

Protection and safety of wild animals, birds and plants and for matters connected
91394316371 therewith



Protection and improvement of quality of environment and preventing, controlling

- - —)4 % 4 = - -! 3
o1394316370 and abating environmental pollution
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In the context of a School / University which of the following aspects of environment determine
the academic ethos ?

Options:

Attractive physical campus
91394316373, ?

Latest lab equipments
91394316374,

Patterns of human relations as evident in workplace
91394316375

91394316376, Well-equipped lecture halls
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91334516373,
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91334516274,
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In the two sets given below, Set - I specifies H,S level in a water sample, while Set - II
provides observations. Match the two sets and indicate your answer from the code given
below :

Set -1 Set- 11
(HL,S level in Water Sample) (Observation)
No H,S is produced

) i)  Dark black - high water pollution
(b) H,Sis produced and is small in quantity

(i) No colour - clean water
(c) H,Sis produced and is medium in quantity (iii) Light black - low water pollution

(d) H,Sis produced and is high in quantity iv) Black - moderate water pollution

(@) (b) (¢) (d)

9:;::3163??. (1) (ll) (LLI'.) (IV)
91234516375, [:ILI'.) (IV) (l) (LI'.)

91334516279, (IV) (l) (LI'.) (I_LI'.)

(i) () (v) ()

91334516280,
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(d) H,S carfed S & 3iK 3qeh! O =9 aet €1 (iv)  ShTel - HEIH Sel gguYl

he :
(@) (b) (c) (d)
Options:
21394216377, (1) (I_l) (LL[) (IV)

91234516375, (LI'.I'.) (IV) (1) (I_I'.)

913345163749,
H91334516380.
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Correct Marks: 2 Wrong Marks: 0
Which organisation in India overseas the functioning and quality aspect of teacher education
programmes ?

Options:
Association of Indian Universities (AlU)
91394316351,
University Grants Commission (UGC)
91394316382. :
atio “ouncil of Educationg Training SBERT
o1504516ass LNational Council of Educational Research and Training (NCERT)

National Council for Teacher Education (NCTE)
91394316384,
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Which of the following bodies/units in a University has a statutory function to perform ?
Options:

91394316335, Board of Studies

91594316536, Fimmance Committee

Board of Management
91394316387,

Research Degree Committee
91394316388,
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Options:

g3 giafd

91334516285,

ot |fafd

B91334516386.

2915334216387, A9 Sffs
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91334516288,
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Which of the following activity /programme in a University aims at Value Education in a
holistic frame ?

Options:

National Cadet Corps (NCC)
91394316389,

£ s Tusical Concerts
1594316390, Fine Arts and Musical Concerts

Inter-University Competitions
91394316391 g

Yoga Education and Wellness Centres
91394316392,
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Y 9 Y oI 31T e forsi favafaamerg  fr=ifed § 9 foy framemar) #&isa =1 379
qae?

Options:
L L e =
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91394316392,
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Correct Marks: 2 Wrong Marks: O
For promoting Human Values through programmes of the University System in India, which
of the following activities have great potential ?

Options:

91394316393, Lectures by experts



Association of NGOs
91394316394,

Mentoring by senior faculty members
91394316395, ’ ’

Inviting dignitaries/heads from national level organisations
91394316396
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Options:

fererv=i & =ArEAH
9159421634935,

T S 37 R G

9129431632394,
91394316395, m

ST T o |31 & TOH ArT/ THE Rl 0
91594316396,
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Correct Marks: 2 WrongMarks: 0
Which of the following statements correctly describe, the functions/status of the National
Institute of Educational Planning and Administration a deemed to be University ?

(a) Capacity building and research in planning and management of education
(b) Educational Planning and Administration

(c)  Fully maintained by the Government of India like any Central University
(d) A Statutory Institute of Educational Planning and Administration

Select the correct answer from the code given below :

Options:
194216397, [:-i-'l) -i-'l[‘ld (b)
91943163956, (a) El['ld (L)

(a) and (d)

21594216399,



(b) and (d)

H91334516400,
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Options:

(a) 3R (b)

913345162397,

(@) 3 (c)

H1334516395.

(a) 3R (d)

21594216399,

(b) 3T (d)

91234516400,
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Correct Marks: 2 Wrong Marks: 0

Copyright Office, Govt. of India functions under the Ministry of

Options:
91394316401, oW and Justice
91394316402, Culture
Commerce and Indu
Q1294216402 stry
Information and Broadcasting
91394318404,
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gferfercarfammn wafaa, Wi awer Fefafea 8 @ e w=em & sl «d s@ g ?

Options:

91334316401, Rt afrc =
913324216402, W
91394216403, SR R i
91334316404, o e s
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Correct Marks: 2 WrongMarks: 0
Which of the following models of communication is also called ABX model of communieation ?

Options:



George Gerbner’s model of communication
91394316405,

91394216408, Theodore M. Newcomb's model of communication

Westley and MacLean’s model of communication
91394316407,

Wilbur Schramm and Osgood model of communication
91394216408,
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Freafafign & @ - @ afga @we & vt e, oiea ot seamm 2 2

Options:

91234516405, N i

firtein w. =geiva &1 @ Aisd
91394316406, A

91334316407, et T e

forear ama aik dtaTe w1 @i Hisw
91394316408,
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Creative Common offers CC0 (CC-Zero) for

Options:

91394316409, o
91394316410 Copyright holders
91394316411, © UPlshers
91394316412, Vendors
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Options:

2915334216409, st

91334316410,

91334516411,

9133451641%. i
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Who was the first Librarian of the Imperial Library, India ?
Options:

41394316413, Khan Bahadur M. A. Asadulla

J.A. Chapman
291594216414,

91394316415, Tarinath De
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Options:

EH 9e1gl TH. U, AHGEl
91334516413,

ERA L
91394316414,

gy 3
91394316415,

H9133451641E. s
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In which year did IFLA launch ‘International Advocacy Programme’ (IAP) 7

Options:

91234516417, 1996

91334516415, 2010

91334516419, 2012

91234516420, 2016

Question Number : 55 Question Id : 9139434180 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

91334516417, 1996

H9133451641%5. 2010

91334516413, 2012

91334316420, 2016
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Identify from the following which publication is neotf excluded from Indian National
Bibliography.

Options:

Ma;
9139421421, ps

91394316420, lusicalscores

First issue of a new periodical
91324516423,

Ephemerals
91394316424,
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Options:

291534216421,

aftdta #ret
91394316422,

912334516423, foft =% F TG H

Heqrg wit
91394316424,
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On which of the following themes does ‘The Europa World of Learning 2017 contain
introductory essays ?

Options:

51394316425, Academic freedom

91394316406, ‘recreditation

The role of gender in access to and participation in higher education
91394316427,

The role of higher education in national development
91394216428,
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Freafeafaa 4 @ fem oftw 3 g 552 a1t @0, 2017 it fey Gefed 8 2
Options:

FFIEfH T
91394316425,

91334516426,

fersm i & fom i sfirsm
91394316427, R R o 7
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91334516425,
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Correct Marks: 2 Wrong Marks: O
According to S.R. Ranganathan, reference service provided using a chain of books,
periodicals and other materials is called as

Options:

Short Range Reference Service
91334216423,

91394216430 Reach-me-down Service

Long Range Reference Service
91394216451,

91394316452, Information and Referral Service

Question Number : 58 Question Id : 9139434183 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

UH, AN, THAIYA % AR Geaahi, rafes sfamed aun o= amfiEt 6t spaen #1 3996 we Iveey
ot ¢ wed da1 FHaerdt

Options:

91394316429 Tt S

91394316430 - +h-gre

STy @Y dan
91394316431,

I e wa
91394316432

Question Number : 59 Question Id : 9139434184 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In PRECIS f" and ‘g’ in secondary operators represent
Options:

Coordinate concepts
91394216433,



Core concepts

91394316434,

Extra core concepts
91394316435,

Special classes of action
21594216456, pedt

Question Number : 59 Question Id : 9139434184 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Hftrst o el et 8 ‘uw’ et S Frefefias © 9 frat qoia & 2
Options:

AT AT
91334516433,

Hed AGHHRUY
91334516424,

Ffefera g sraamomnd
91394316435,

91334516436, il < faw

Question Number : 60 Question Id : 9139434185 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TUNIMARC’ is a contribution of
Options:

91334516437, LC

2915942164355, OCLC

91234516429, IFLA

91334516440, UNESCO

Question Number : 60 Question Id : 9139434185 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
“Fiftwrh et e 2 7

Options:



.
91394316437,

it 4t ue
91394316438, qa

2915342164359,

e

291234516440,

Question Number : 61 Question Id : 9139434186 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
=00 in UDC denotes

Options:

Multilingual documents
91234516441,

Artificial languages
91394316442,

91394316443 1ranslated documents

413294216444, Untranslated documents

Question Number : 61 Question Id : 9139434186 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
gt & = 00 w0 gudaT 2 2

Options:

aguTTt Yot

912334516441

Fhm v

21594216442

srifeq et

91334516443

FaTafea werE

2915334216444

Question Number : 62 Question Id : 9139434187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following canon implies, according to Dr. S.R. Ranganathan, that each class
number should represent one and only one subject or isolate idea ?

Options:

Canon of Relativity
91394316445,

Canon of Hierarchy
91:94216446,

Canon of Homonym
91394316447,
913943164483, Canon of Mnemonics

Question Number : 62 Question Id : 9139434187 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1. .3, TrYA % gan Frefafias 4 @ fea om0 ared 9 @ 6 w3 af g & g o,
*hael U 8t fawa a1 uewe famm =t guifan s =nfe 2

Options:

HTY&TT T ITHT
91394316445,

qEshH <Rl IUA
21594216446,

HHATH <Rl 94
91334516447,

Hi% HETTH I ITEHA
91234516445,

Question Number : 63 Question Id : 9139434188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Touchpoint’ end-user discovery service is provided by

Options:

91234516443, OCLC

291234516450,

91334516451, LC

291594216452, SLA



Question Number : 63 Question Id : 9139434188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘Taise’ we-g ferwalt ga1 Frafafiaa 4 o feoss gro g soft ot 2 0

Options:

it 4t ue
91394316449 qﬁ

91394316450 R

.
91394316451,

91394316452, R

Question Number : 64 Question Id : 9139434189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who said “Management is the art of getting things done through people” ?
Options:

Mary Parker Follett
91394316453,

91394316454, Lilian Gilbreth

F.W. Taylor
91394316455,

Henry Mintzber
913943216456, v &

Question Number : 64 Question Id : 9139434189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fore e o fo “vae gEd % wrem A W HE B w82

Options:

2915342164535, %

91334516454,

U, Toq, deil
91394316455,



ot
913943516456, &

Question Number : 65 Question Id : 9139434190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Vidya Mitra, integrated e-content portal of INFLIBNET is a web-based portal consisting of
all e-content developed under

Options:

91394316457, ICS5R Data Service

91394316458, NME - ICT

Swayam — Prabha
913324516459,

Unnat Bharat Abhiyan
91394316460,

Question Number : 65 Question Id : 9139434190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FAfFerae 1 gafed §-fva-agg 9éa foen-fim o S9-smafa diéde @ fired frafafea 4 @ feas
FFeta faeflr avft 3-foea-aeg e 2 2

Options:

Ht.um .. 2 afdm
91394316457, AT

TR - AR
91394316458, TS - T

91394316459, -

H13345164E0, A MR

Question Number : 66 Question Id : 9139434191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A set of best practices for publishing and interlinking structured data on the web is known
as

Options:

91394316451, = markeddata



91394316462 Distributed data

91394316463, ' epdata

91394316464, nkeddata

Question Number : 66 Question Id : 9139434191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

a9t gifaa strkel % WA iR stmarEtsaar i e wrfyvrelt % wye w6t o S
EICIE A
Options:
FHfafga e
91394316461

ferafa svimet
913943216462,

a9 TR
91394316463,

91394316464,

Question Number : 67 Question Id : 9139434192 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Decimal number 100" is represented in binary as
Options:

91234516465, 01100100

91334516466, 01010011

H1334Z164E7. 00100111

91334516465, 11101100

Question Number : 67 Question Id : 9139434192 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ZIMea G 100 Fi fgamarh # frafefias 8 o g gofm man 2 2

Options:



91234516465, 01100100

91334516466, 01010011

H1334Z164E7. 00100111

91334516465, 11101100

Question Number : 68 Question Id : 9139434193 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In zpiral of seientific method, the *‘Hooke's Law’ is an example of

Options:

Empirical phase
91334316469,

Deductive phase
91324316470,

Verification phase
91394316471,

H thesizing phase
91394216472, ypo Ep

Question Number : 68 Question Id : 9139434193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

amfe fafa % affa & g% = fagia’ Feafafiaa & @ s sqeo 2 2
Options:

warTfig g

91234516469,

[EEIEED
91394316470, L

BRCIRE]
91334516471, <«

gfseudg gam
91394316472

Question Number : 69 Question Id : 9139434194 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who developed information literacy logo ?



Options:

91334516473, Le/ocLe

91334516474, ACRL

91334516475, IFLA/

91334516476, ¥ ESCO

Question Number : 69 Question Id : 9139434194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HaT |eran Ydteh fas feee @ o 2

Options:

RoIWE KRR
91394316473, w

91394316474, LA o

91394316475, AL TR

TR

91334516476,

Question Number : 70 Question Id : 9139434195 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In the context of user studies, a Librarian’s study on “How well the human-computer-
networks interaction works" ? can be categorized as

Options:

Physical approach
Q1294316477 y PP

Cognitive approach
G12943212478, & PP

User-centered approach
91334316479,

Philosophical-analytic approach
9139421480, P y PP

Question Number : 70 Question Id : 9139434195 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
IPIIFIT AT F FE H, TeAwreareag W Ry T Cara-seeeAeadh areafes e et st
18 ° 19 Fedt 8 27 avergs & dofie Frefefige d @ fegd e e 2 2

Options:

91334516477,

AT J9MTH
91394316478,

91394316479 SR AT 3T

graiteh-dveifier I9mH
91394216480,

Sub-Section Number: 2
Sub-Section 1d: 913943212
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 9139434196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following are considered as standard channels of scholarly communication ?
(i)  Handbooks
(i)  Wikis
(iii) Working Papers

(iv) Research Report

Choose the correct answer from the code given below :

Code :
Options:

(i) and (iv) are correct
Q139432164581

(i) and (iii) are correct
Gl12943212482.

(ii) and (iv) are correct
Q13943216483

(iii) and (iv) are correct
Q1294216484

Question Number : 71 Question Id : 9139434196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frfafiga & & w0 faga @ & A <9 8 7
(i) Rveged

(i) fefrm

(iii) e Yo
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e

Options:
i GﬂT M
91394316481 (i) T

91394316482, R (i) T

2915342164835, (i 3 (iv) ¥ &

91394316484, M @) 7 §

Question Number : 72 Question Id : 9139434197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Identify from the following the correct salient traits of “Invisible College”.
(i)  Itis based on Francis Bacon’s principle that “Knowledge is power”.
(ii) It aims to acquire knowledge through experimental investigation.
(iii) Itis not to be seen as a precursor to the Royal Society, UK.

(iv) Itis a club of intellectuals with less than 14 core members.

Choose the correct answer from the code given below :

Code :
Options:
(i) and (ii) are correct
91=Z942164EE.

(iii) and (iv) are correct
91394212486,

(ii) and (iii) are correct
Q139421 64587.

(ii) and (iv) are correct
91394212488,



Question Number : 72 Question Id : 9139434197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Prefafia & & s “gfafias sioe” i adt v fadwa & 2
W) g wifw w57 % “T & vfw 27 % faga w smafa 2
(i) 3&h Jeva Wi S &% Arean § 79 Afq F g @
(iii) 3 o raTed, 4.%. % gt % w9 F 36 @ e =fie )
(iv) ¥ gfgifaei 1 oo & od 4 d Fnge g 7 |

Hre feu o g2 & © @t I H g
% :

Options:

A \Bﬂ? ai

91394316485, ¥ (i) 7 &
91394316486, W R (iv) 7 &
91394316487, (i) e (i) 7 &
91394316458, (i) R (iv) TE1 §

Question Number : 73 Question Id : 9139434198 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following are open access LIS journals from India ?
(i) SRELS Journal of Information Management

(ii) Annals of Library and Information Studies, NISCAIR
(iii) Journal of Library and Information Science, DLIS, Delhi University

(iv) DESIDOC Journal of Library and Information Technology

Choose the correct answer from the code given below :

Code:
Options:

(1) and (ii) are correct
912943212489,

(i) and (iii) are correct
Q13943216490

(i) and (iv) are correct
Q1294216491



(ii) and (iv) are correct
Gl13a4318492,

Question Number : 73 Question Id : 9139434198 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

912394316489, {1}31‘]?(11}@%
33 «?Fﬁ?

912394316490, ) (m}ﬂ'{l%

913942316491, {1}3111(1\?}'{1@%

915943164592, {u}aﬂiiw}'ﬂ'{lﬁ

Question Number : 74 Question Id : 9139434199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which among the following are the characteristics of ‘informative abstracts’ ?

(i)  Orientation to serve specific group
(ii) Detailed information about content of the original
(iii) May not need to consult the original

(iv) Reviews the document

Choose the correct answer from the code given below :

Code :
Options:

(i) and (iii) are correct
Q1394316493



(ii) and (iii) are correct

Gl1394318494

(ii) and (iv) are correct
Q1394216495

(iii) and (iv) are correct
91394318496,

Question Number : 74 Question Id : 9139434199 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Preferfiga & & @ “quen o’ it fedhgard & 2
() Toelt fafirse oo o ed 0 % for sifinga
(i)  H& &t fawm-asg & wn # fawga gua
(i) qe o forema fee o &t savgRar 7 &
(iv)  EEATa i gde e &

43 Ry g 8 4 WA TR
% :
Options:
{1 aﬂ?{“‘
91394316493, ¥ i) 7 &
{" aﬂT{HH
91394316494 i) 7 &
91394316495, (i) 3R (iv) 78 &
91394316496 W R (iv) 7 &

Question Number : 75 Question Id : 9139434200 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify the correct features of the Classification Research Group, London (CRG) from the

following :

(i) CRG was one of the most significant contributors to sociological research and theory.

(ii) The theoretical work of the group involved in the study of facet analysis, relational
operators and theory of integrative levels.

(iii) It is the basis of the dynamic theory of Ranganathan.

(iv) CRG was interested in first piecing together individual elements and then determining
the areas of knowledge they form.

Choose the correct answer from the code given below :

Code :
Options:
(i) and (ii) are correct
A1=294216497.

(iii) and (iv) are correct
9139432165498,

(i) and (iii) are correct
G1=294=216499,

(ii) and (iv) are correct
91394212500,

Question Number : 75 Question Id : 9139434200 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Freafafiaa 4 & sardtferem fas v, @iga (d.emsh.) i adt fagmar 6t vgam $if
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Options:
9194316497 R {ﬁ}ﬂﬁﬁ
(iii) 3 (iv) Tt &

91334516455,



(i) 3 (i
91394216499, } ) w &

(ii) 3 (iv
91394316500, ) T e

Question Number : 76 Question Id : 9139434201 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Empty Digit means a digit
(i)  with ordinal value

(ii) without semantic value
(ili) without ordinal value

(iv) with semantic value

Choose the correct answer from the code given below :

Code :
Options:
(i) and (ii) are correct
Q91294216501

(ii) and (iii) are correct
A1=294216502,

(i) and (iii) are correct
Q13942168503

(iii) and (iv) are correct
Q1294216504

Question Number : 76 Question Id : 9139434201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
foaer a7k o a1 2
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Options:

(i) 3 (i) ot &

91334516501,



(i) 3ft (iii) Td &

91394216502,
(i) 3T (i

91394316503, } ) &
(iii) 31T (iv

91394316504, } ) §

Question Number : 77 Question Id : 9139434202 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following entities have been introduced by Functional Requirements for
Subject Authority Records (FRASAR) working group 7

(i) Strings
(ii) Nomen
(1ii) Thema

(iv) Integers

Choose the correct answer from the code given below :

Code :

Options:

(i) and (ii) are correct
9134943218505,

(i) and (iii) are correct
91Z94216506,

(ii) and (iii) are correct
91394318507,

(iii) and (iv) are correct
91Z94316508.

Question Number : 77 Question Id : 9139434202 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

91394316505, (0 MR (i) T &
91394316506, (0 oM (i) 7 8
91394316507, (i 3 (i) T &
91394316508, R (iv) 7 &

Question Number : 78 Question Id : 9139434203 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following statements are true to define cost-benefit analysis ?

(i) Ewaluation of alternatives in relation to their costs.

(ii) Maintaining the present performance level while reducing the costs of operating the
system.

(iii) Holding operating costs constant while raising the average performance level.

(iv) Rank variant alternatives appropriate to a given set of objectives.

Choose the correct answer from the code given below :

Code :
Options:
(i) and (iii) are correct
Q1594216509
(ii) and (iii) are correct
Q1294216510

(i) and (iv) are correct
912394212511,

Yes



(iii) and (iv) are correct
913942318512,

Question Number : 78 Question Id : 9139434203 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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91394316509, (i) 7 &
913943216510. (i) ¥ (i) 7 &
91394316511, (@) 3R () T &
91394316512, (i) 3 (iv) ¥ &

Question Number : 79 Question Id : 9139434204 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following can be categorized as administrative roles of an LIS professional ?

(i)  Knowledge organizer
(ii) Resource allocator
(ili) Disseminator of information

(iv) Subscription negotiator
Choose the correct answer from the code given below :

Code :
Options:

(i) and (iii) are correct
91394218512,

(ii) and (iv) are correct
91394216514,



(i) and (iv) are correct
913494218515,

(ii) and (iii) are correct
Q1394216516

Question Number : 79 Question Id : 9139434204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 80 Question Id : 9139434205 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following are the characteristics of Google's ‘featured snippets’ in search ?

(i) Full text answer to a query
(ii) Quick direct answer to a query
(iii) Extracted from a web page

(iv) Displayed at the bottom of a search

Choose the correct answer from the code given below :

Code :

Options:



(i) and (ii) are correct
913942168517,

(ii) and (iii) are correct
Q139421651 8,

(i) and (iv) are correct
91394218519,

(ii) and (iv) are correct
Q13942168520,

Question Number : 80 Question Id : 9139434205 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 81 Question Id : 9139434206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify the features of ‘HTML'.

(i) Ease of creating new references
(ii) Users interactivity
(iii) Ease of tracing references

(iv) Ease of customising documents

Choose the correct answer from the code given below :

Code :
Options:

(1), (ii) and (iii) are correct
Q13943216521

(i), (iii) and (iv) are correct
Q1394216522

(i), (iil) and (iv) are correct
A12394218822

(i), (ii) and (iv) are correct
Q13943168524

Question Number : 81 Question Id : 9139434206 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 82 Question Id : 9139434207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the correct Sound File Formats.

(i) MOV
(i) WAV
(iii) .MID

(iv) MPG

Choose the correct answer from the code given below :

Code :

Options:

(i) and (ii) are correct
Q12943165525

(ii) and (iii) are correct
Q1594216526

(1), (ii) and (iii) are correct
Q1=94316527.

(iii) and (iv) are correct
A1=29421652E.

Question Number : 82 Question Id : 9139434207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(iii) 31T (iv
91394216528, } )

Question Number : 83 Question Id : 9139434208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following are free and open source Content Management Systems ?

(i)  Text pattern
(ii} Concrete 5
(ili) Content verse

(iv) Kentico

Choose the correct answer from the code given below :

Code :

Options:

(i) and (ii) are correct
9129431685239,

(i) and (iii) are correct
91394216530,

(i) and (iii) are correct
9132943168531,

(ii) and (iv) are correct
A1=294216522,

Question Number : 83 Question Id : 9139434208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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H91334516521. (i) 3 (i) T &
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Question Number : 84 Question Id : 9139434209 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the correct objectives of an Enterprise Information System (EIS) from the following.

(i) To increase employee productivity
(ii) To advance the cost of IT and optimize the manual input of data
(iii) To maximize duplication of company data and demote the work guality

(iv) To ensure greater employee collaboration and efficiency

Choose the correct answer from the code given below :
Code:

Options:

(i) and (iii) are correct
Q13943216533

(i) and (iv) are correct
Q1294216524

(1) and (ii) are correct
Q13943216535

(ii) and (iv) are correct
A1=29421652E,

Question Number : 84 Question Id : 9139434209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 3 (iv) wE &

91394216534,
(i) 31T (id

91394316535, } ) §
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Question Number : 85 Question Id : 9139434210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following are Object-based-logical data models ?
(i)  Hierarchical model

(ii) Network model
(iii) Entity relationship model

(iv) Functional model

Choose the correct answer from the code given below :

Code :
Options:

(i) and (iii) are correct
Q13943216537

(ii) and (iii) are correct
A1=29421652E,

(i) and (iv) are correct
9139432168539,

(iii) and (iv) are correct
Q1294216540

Question Number : 85 Question Id : 9139434210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(i) 3 (i
91394216537, } ) w &

(ii) ¥ (i
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Question Number : 86 Question Id : 9139434211 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following are the different types of longitudinal study ?

(i)  Cohort Study
(ii) Correlational Study
(iii) Panel Study

(iv) Trend Study

Choose the correct answer from the code given below :

Code :
Options:

(1), (i) and (iii) are correct
913942168541,

(1), (iii) and (iv) are correct
91394216542

(ii), (iii) and (iv) are correct
915942165435,

(1), (ii) and (iv) are correct
91394216544,

Question Number : 86 Question Id : 9139434211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 87 Question Id : 9139434212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following are sampling errors ?
(i)  Framing errors
(iiy Process errors

(iii) HResponse errors

(iv) Tabulation errors

Choose the correct answer from the code given below :

Code :
Options:

(i) and (ii) are correct
Q1294216545

(ii) and (iv) are correct
G1394321E854E,

(i) and (iii) are correct
Q1=294216547.

(iii) and (iv) are correct
91394218548,



Question Number : 87 Question Id : 9139434212 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Frfafiga & @ - wfogyf gfeat 2 2
(i) aA Hadt Ffeat
(i) wfsran wadt gfeat

(i) feran gadt gfeat
(iv) @rofteror gadt gfeat

ﬂ%fﬁlﬂqiiﬁifmﬂaﬂzﬂﬁgﬁq:
% :

Options:

(i) 3t (i
91394316545, ) ) g

(ii) 3 (iv
91394216546, ) T e

(i) 3T (i
91394316547, } ) &

(iii) 31T (iv
91394316548, } ) §

Question Number : 88 Question Id : 9139434213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the independent variables in the statement “Will students who are taught by a
team of three teachers learn more science than students taught by one individual teacher.”

(i) One teacher
(i) Learn more science
(iii) Taught

(iv) Three teachers

Choose the correct answer from the code given below :

Code :
Options:

(1) and (ii) are correct
91394318549,

(i) and (iii) are correct
91394216550,

(ii) and (iii) are correct
91394218551,



(i) and (iv) are correct
91394218552,

Question Number : 88 Question Id : 9139434213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 89 Question Id : 9139434214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Chi-square test is used by researchers to test which of the following ?

(i)  Judging the significance of several measures
(ii) Test the significance of population variation

(iii) Test the significance of the difference amongst more than two sample means
at the same time

(iv) Test the significance of association between two attributes

Choose the correct answer from the code given below :

Code :
Options:

(i) and (ii) are correct
Q1394316553



(ii) and (iii) are correct
912394218554,

(ii) and (iv) are correct
913942165555,

(iii) and (iv) are correct
91394218558,

Question Number : 89 Question Id : 9139434214 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 90 Question Id : 9139434215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following documents on information literacy are developed by IFLA ?

(i)  Guidelines for Information literacy assessment
(ii) Information literacy guidelines and competencies for Under Graduates
(iii) Guidelines forInformation literacy forlifelong learning

(iv) Framework for Information literacy for Higher Education

Choose the correct answer from the code given below :

Code :

Options:



(i) and (ii) are correct
91394218557,

(ii) and (iii) are correct
Q139421655 E,

(i) and (iii) are correct
913494218559,

(iii) and (iv) are correct
Q1394216560

Question Number : 90 Question Id : 9139434215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 9139434216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following ‘information phrases’ with their appropriate descriptions.
List I List IT
(a) Information hunger (i) Motivation or addiction to learning
new information

(b) Information appetite (ii) Excessive word count and details
that make it harder for people to
extract useful information

(¢) Information pollution (iii) Less access to information and
vulnerable to all kinds of pressures

(d) Information poor (iv) Eager to discuss and learn
information in a group

Code :
Options:

(a)—(iv), (b)(ii), (e)—(i), (d){iii)
91394316561,

(a)—(ii), (h)—(1), (e)—(iv), (d)—{iii)
91394316562,

(a)—{i), (b)—(iv), (e)—{ii), (d)—{iii)
913945165653

(a)—(1), (b)—(iii), (e)—(ii), (d)—iv)
91594216564,

Question Number : 91 Question Id : 9139434216 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)—i), (b)—(iv), (e)—(ii), (d)—(iii)
91394316563



(a)—(i), (b)—(iii), (e)—(ii), (d)—iv)
91394316564,

Question Number : 92 Question Id : 9139434217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match the following awards with the Association that instituted them.

List I List IT
{a) Prof. Kaula Best Librarian Award (i) IATLIS
(b) Prof. Joginder Singh Ramdev (i) IASLIC
Lifetime Achievement Award
(e) Librarian of the Year Award (iii) SIS

(d) A.S. Raizada Memorial Young (iv) ILA
Information Scientist Award

Code :
Options:

(a)—{iv), (b)—(1), (e)—{ii), (d)—{iii)
91394316565,

(a)—(ii), (h)—(iii), (e)—(iv), (d)—(i)
91394316566,

(a)—(iii), (b)—(ii), (e)—(i), (d)—iv)
91394316567,

(a)—i), (b)—(iv), (e)—{iii), (d)—(ii)
91394516568,

Question Number : 92 Question Id : 9139434217 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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91394316565,



(a)—(ii), (b)—(iii), (e)(iv), (d)—(i)
91394316566,

(a)(iii), (b)(ii), (e)-(i), (d)—iv)
91234216567,

(a)—(1), (b)—(iv), (e)(iii), (d)—(ii)
913943165685,

Question Number : 93 Question Id : 9139434218 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match the following types of abstracts with their respective function.
List I List I1
(a) Critical abstract (i) Oriented to serve a specific group
(b) Indicative abstract (ii) Comprehensive description of the document
(¢) Informative abstract (iii) Alerts the user with content of the document
(d) Slanted abstract (iv) Evaluates the document

Code :
Options:

(a)—(i), (b)—(iv), (e)—(iii), (d)—(ii)
91334516569,

(a)—{iv), (b)—(iii), (e)-(id), (d)—~1)
91234216570,

(a)—(ii), (b)), (e)i), (d)-iv)
91294216571,

(a)—(iii), (b)—(ii), (e)—(iv), (d)—(i)
91394316572,

Question Number : 93 Question Id : 9139434218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)(iv), (b)—(iii), (e)(il), (d)—(1)

91334516570,

(a)—ii), (b)—(iii), (e}—(i), (d)—{iv)
91334516571,

(a)—(iii), (b)—(ii), (e)~iv), (d)—(i)
B91334516572.

Question Number : 94 Question Id : 9139434219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the following reference questions with corresponding service.

List I List I1

(a) In which country was acupuncture (i) Current awareness service
originated ?

(b) What measures are taken by the (ii) Long range reference service

Government of India for control of
Malaria in the last decade ?

(¢) How will you find out ‘Ignited Minds" (iii) Ready reference service
by A.P.J. Abdul Kalam in the library ?

(d) Asking for a list of newly added books (iv) User orientation
to the library

Code :
Options:

(a)—(iii), (b)—(1), (e)-{ii), (d)-iv)
91234216573,

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
91394316574

(a)—iii), (b)~(id), (e)—liv), (d)~(D)
91334216575,

(a)—ii), (b)—(iii), (e}—(i), (d)—iv)
91334216576,

Question Number : 94 Question Id : 9139434219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a)—{iii), (b)—(1), (e)—{ii), (d)—{iv)
91394316573,

(a)—{iv), (b)—(iii), (e)(id), (d)—~(D)
91594216574,

(a)—(iii), (b)—(ii), (e)—(iv), (d)—(i)
91394316575,

(a)—(ii), (b)—(iii), (e)~(1), (d)—liv)
91394316576,

Question Number : 95 Question Id : 9139434220 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match the following IS0 standards with their respective fields.
List I List IT
(a) IS0 2146 : 2010 (i) Computer applications in terminology — terminological
mark up framework
(b) ISO/TR 11219 : 2012 (ii) Library performance indicators
(¢) ISO 11620 : 2014  (iii) Registry services for libraries and related organisations
(d) IS0 16642 : 2017 (iv) Qualitative conditions and basie statistics for library buildings

Code:
Options:
(a)—(iii), (b)—(iv), (e)—(ii), (d)—(i)
D1394216E77.

(a)—(iv), (b)(ii), (e)—(iii), (d)—(i)
91394316578,

(a)—{iii), (b)—(1), (e)—{iv), (d)—(ii)
91394316579

(a)—i), (b)—(ii), (e)(iii), (d)iv)
91394316580,



Question Number : 95 Question Id : 9139434220 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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91334516577,

B91234516575.

21594216579,

91334516580,

Question Number : 96 Question Id : 9139434221 Question Type: MCQ Option Shuffling : Yes Display Question Number :

wifesh

(a)(iii), (b)(iv), (e)(ii), (d)—(i)

(a)—(iv), (b)(ii), (e)-(iii), (d)—(1)

(a)—(iii), (b)), (e)—(iv), (d)—(ii)

(a)—(D), (b)—(ii), (e)(iii), (d)—iv)

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Match the following terms with their corresponding explanations.

List I

List II

(a) Compound Subject (i) Subject of small extension and great intension

(b) Complex Subject (i) A subject with a basic subject and one or more isolate ideas

as component subjects

() Micro Subject (iii) Subject of very tiny extension and enormous intension
(d) Spot Subject (iv) Subject formed by coupling two or more subjects
Code:
Options:
(a)—(iv), (b)—(1), (e)—(ii), (d)—(iii)
91594316551,
(a)—(i), (b)—(iii), (e)(ii), (d)—liv)
91394316582,
(a)(ii), (b)—iv), (e)i), (d)iii)
91394216583,

H91334516584.

(a)(iii), (b)—(i), (e)(iv), (d)(ii)

Yes



Question Number : 96 Question Id : 9139434221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frefefiaa wgi #1 firem 39e vt = wng Hifag |
LS LSl
(a) woifass famm () &y fawam 9o ggq e w1 faw
(b) wifee o (i) wh smareqn fawa aun wes et &

w9 | UF g1 UHIa Uhd fEn g
T ueh fam 2
(c) =afee famm (iii) @ga @y feream afi sreafers meaan
&1 faw
(d) waie fawg (iv) 3 71 3 B firs fawdi =t e
ECICIREIRTLE]
% :
Options:
(a)—{iv), (b)—(1), (e)—(ii), (d)—iii)
91394316581,
(a)—{i), (b)—(iii), (e)—(ii), (d)—{iv)
91394316582,
(a)—(ii), (b)—(iv), (e)—(i), (d)—(iii)
91394316583,
(a)—{iii), (b)—(1), (e)—{iv), (d)—(ii)
91394316584,

Question Number : 97 Question Id : 9139434222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frfefiga e i feufoat =1 firem gk 21 9 fow o 39es defia et & g Fifao |

el gt 10
(a) 00-04 (i) otfirera ward
(b) 06 (i) sifirerE TR
(e) 07 (i) aTwel (3€T) H THT
(d)» 08 (iv) s % v
% :
Options:
91394316585, (b)), (e){iid), (d)—(iv)

(a)—(ii), (b)—(1), (e)-iid), (d)—iv)
91234216586,



(a)—{iv), (b)id), (e)—(i), (d)—iii)
91234216587,

(a)—iii), (b)id), (e)—{iv), (d)—~1)
91234216588,

Question Number : 97 Question Id : 9139434222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the following character positions with their respective descriptions as given in MARC
21.

List I List I1
(a) 00-04 (i) Record length
(b) 08 (ii) Type of Record
(e 07 (iii) Kind of data
(dy 08 (iv) Type of control
Code:
Options:
(a)—(i), (b)—{ii), (e)—(iii), (d)—(iv)
91394216585,
(a)—(ii), (b)—(i), (e)—(iii), (d)iv)
91394216586,
(a)—(iv), (b)—(ii), (e)—(i), (d)—(iii)
21394216587,
(a)—(iii), (b)—(ii), (e)—(iv), (d)—1)
915943165586,

Question Number : 98 Question Id : 9139434223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match the following books with their authors.

List I List IT

(a) Classification, Theoretical and (i) E.W. Hulme
Practical

(b) A Manual of Classification (ii) J. Mills

(c) A Modern Outline of Library (iii) E.C. Richardson
Clasgification

(d) Principles of Book Classification (iv) W.C.B. Sayers

Code:

Options:

(a)(iii), (b)—(iv), (e)(ii), (d)—(1)
91234216589,



(a)(iv), (b)—(iii), (e)(il), (d)—(1)
91394316530,

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
91234216531,

(a)—ii), (b)—(i), (e)—(iv), (d)—(iii)
912345165392,

Question Number : 98 Question Id : 9139434223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frferfiaa geaet &1 frem 375 ol % g fifsa |
T T I
(a) Fenfbferem, wffera we Yfaecwa () 3.3, W
(b) U HIA 3T Ferreifrere (i) o, foem
(¢) UHIEH e % wrgalt Fertfeere (i) §.4f. fradea
(d) fiftoen sife g% Fenfafeem (iv) Seey ot aud

He:
Options:

(a)(iii), (b)—(iv), (e)(il), (d)—(1)
91234216589,

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
91394316530,

(a)—i), (b)—(ii), (e)-(iii), (d)—(iv)
91334516591,

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91334216532,

Question Number : 99 Question Id : 9139434224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match the following modes of formation of subjects with their corresponding subject.

List I List I1
(Mode of formation) (Subject)
(a) Lamination (i) Management Science
(b) Loose Assemblage (ii) Astrophysics
(c) Distillation (iii) Arteries of arms
(d) Fusion (iv) Statistical Analysis for Railway Manager
Code:
Options:

(a)—(iii), (b)—(iv), (e)-(i), (d)—(ii)
912334516593,



(a)—(iii), (b)(ii), (e)—(iv), (d)—(i)
91394316554,

(a)—i), (b)—(iii), (e)—{iv), (d)—(ii)
91394516595,

(a)(ii), (b)—(iv), (e)-(i), (d)iii)
91394316596,

Question Number : 99 Question Id : 9139434224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

foret = fomifor & Frarfefias ofiel = firem 3% dafug fawa < amg fifsw

et 1 et I
(Ferea Fmion) (feremr)
(a) YeH (i) wauA fagm

(b) Ffeeogsm i) @ Hifedr
(c) 3THaA (iii) @Tge it gafrat
(d) faerm (iv) e weaeh & fere aifesdr favemm

He:
Options:

(a)—iii), (b)~iv), (e)i), (d)—(ii)
91394316533,

(a)—(iii), (b)(ii), (e)—(iv), (d)—(i)
91594216594,

(a)—(i), (b)—(iii), (e)—(iv), (d)—(ii)
91394316595,

(a)—(ii), (b)—iv), (e)(i), (d)iii)
91394316536,

Question Number : 100 Question 1d : 9139434225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the following types of management with corresponding library operational activity.

List 1 List I1

(a) Total Quality Management (i) Taking measures for occupational health of
library staff

(b) Change Management (ii) Teamwork on digital library project

(¢) Risk Management (iii) Analysis of user feedback

(d) Participative Management (iv) Introducing RFID for library circulation
operations

Code:

Options:



(a)(iii), (b)—(iv), (e)-(i), (d)—(ii)
91334216537,

(a)—ii), (b)—(iii), (e}—(i), (d)—{iv)
91234216538,

(a)—iv), (b)—(ii), (e)—(iii), (d)—(i)
91234516599,

(a)—(1), (b)—(iii), (c)—{iv), (d)—(ii)
91334216600,

Question Number : 100 Question Id : 9139434225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

yauA & Freafafas et #1 fiem ag yeawes vareams nfafafa @ Hifs )

gl | II
(a) Tl VST WEUT (1) GEAeRrerd T o sATaETIIe TETee
B I HEA

(b)y fEds w=uA (i) fefoea wmgett fgem o gord
(¢) gy wau= (ili) I9grEaT Freds 1 faverm

(d) wfewmTas yEEa (iv) Geaehrerd gftETer ufsn g
L TH. .S & FE

He:
Options:

(a)—(iii), (b)—(iv), (e)~(i), (d)—(ii)
91334216537,

(a)—ii), (b)—(iii), (e}—(i), (d)—{iv)
91234216538,

(a)—iv), (b)—(ii), (e)—(iii), (d)—(i)
91234516599,

(a)—(1), (b)—(iii), (c)—{iv), (d)—(ii)
91334216600,

Question Number : 101 Question Id : 9139434226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following numerical values, used as collection indicators, with their respective
depth levels as defined in the IFLA Guidelines on Acquisition and Collection Development.

List I List IT
(a) 0 (i) Comprehensive level
(by 1 (ii) Study or Instructional Support Level
(e} 3 (iii) Minimal Information Level
(dr 5 (iv) Out of Scope
Code
Options:
(a)—(iv), (b)—(iii), (e)-ii), (d)—D)
291394216601,
(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
21394216602,
(a)—(ii), (b)—(iv), (e)—(iil), (d)—(1)
91394216603,
(a)—iii), (b)(id), (e)—(i), (d)—{iv)
91394216604,

Question Number : 101 Question 1d : 9139434226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TRV Hehdehi o &9 # W Freafefas dearers geat & frem sl st g fawm wadt
syen feanfdn d = fonfys st wafia meaa wod & wy $ifig |

gl g
(a) 0 (i) foega =
by 1 (ii) eI HYST IFSIIEh TeanT &
(e) 3 (iii) ~ATH FIAT T
(d 5 (iv) forg &= & @
He:
Options:
(a)—(iv), (b)), ()i, (1)
91394316601
(a)—(i), (b)—(id), (e)—{iii), (d)~(iv)
91394316602,
(a)—(ii), (b)—(iv), (e)—(iii), (d)—(1)
91394316603,
(a)—(iid), (b)—(ii), (e)~(1), (d)—iv)
91394316604

Question Number : 102 Question Id : 9139434227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Match the following types of Knowledge Discovery in Databases (KDD) with their

respective activity.
List I List IT
(a) Text mining (i) Aggregates related items

(b) Web usage mining  (ii) Structuring the input, deriving patterns
(c) Web content mining (iii) Discovering hyperlinks for ranking
(d) Web structure mining (iv) Discover patterns of visited pages

Code :
Options:

(a)—(ii), (b)—iv), (e)(i), (d)iii)
91394316605,

(a)—(iii), (b)(ii), (e)—(iv), (d)—(i)
91234216606,

(a)—(1), (b)—(iii), (e)(ii), (d)iv)
91394316607,

(a)—{iv), (b)—(1), (e)—(iii), (d)—(ii)
91394316608,

Question Number : 102 Question Id : 9139434227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Sera| # 14 @ (%K) % Frafafaa werd w1 e et gafia nfafafa @ i

oI Eolpl!

(a) 98 @H (i) wafyd favg-aegat =t wwlEa s g

(b) 9@ IWM @ (i) AW hit FEA T, Tl TR FH

(e) 9 fawa-aeg @ (i) I % fore e 6t @ts wen

(d) 9 GENEH  (iv) E@rwd 731 F 3 g

e
Options:
91394316605, (a)-ii), (b)—(iv), (e)—(i), (d){iii)

(a)—(iii), (b)—(ii), (e)—(iv), (d)—(i)
91394316606,

(a)—(i), (b)—(iii), (e)—(ii), (d)—iv)
91394316607,

(a)—{iv), (b)—(1), (e)—{iii), (d)—(ii)
91394316608,

Question Number : 103 Question 1d : 9139434228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Match the following quality assessment measures with corresponding explanation.

List I List IT
(a) Effectiveness (i) Deriving best practices
(b) Efficiency (i) Value provided
(e) Benchmark (iii) Desgired result provided
(d) Impact (iv) Cost effectiveness
Code:
Options:
(a)—iv), (b)—(iii), (e)ii), (d)—(D)
91394216609,
(a)—(iii), (b)—(1), (e)—iv), (d)—(ii)
21294216610,
(a)—(iii), (b)—(iv), (e)—(i), (d)—(ii)
91394216611,
(a)—(ii), (b)—(i), (e)—(iii), (d)—iv)
91394216612,

Question Number : 103 Question Id : 9139434228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Freferfiaa more qeatea ot w1 fiem agn et & amy fifsw |

et 1 et 1
(a) weTasfiemn (i) #%3 SqaEr 9H 7q
(b) g&faT (ii) ITeTe AT TA o
(c) weHEh (iii) ITeTE HUAT T Fifesa qfoms
(d) 94TE (iv) &Te TYTEsiterdn
% :
Options:
(a)—(iv), (b)—(iii), (e)(ii), (d)—(i)
91394316609,
(a)—(iii), (b)—~(i), (e)—(iv), (d)—(ii)
91394316610,
(a)—(iii), (b)—~(iv), (e)~(i), (d)—(ii)
91394316611,
(a)—(id), (b)—(i), (e)—(iii), (d)—(iv)
91394316612,

Question Number : 104 Question Id : 9139434229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following management approaches with the person associated with it.
List I List IT

(a) Administrative (i) Hugo Miinsterberg

(b) Behavioural (ii) Henry Fayol

(c) Quantitative (iii) Peter Drucker

(d) Composite (iv) Herbert A. Simon

Code :
Options:

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91234216613,

(a)—(i), (b)—(iii), (e)-ii), (d)~(iv)
91234216614,

(a)—(iii), (b)—(ii), (e)~iv), (d)—(i)
91234516615,

(a)—(iv), (b)—(iii), (e)~(i), (d)—(ii)
91334216616,

Question Number : 104 Question Id : 9139434229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fr=fefiaa weaa sl =1 e 338 gag =afeaat & arg $ifag )

et 1 T II
(a) Wl (i) g et
(b) AGENITH (i) &l warE
(c) SHTHTHS (i) 9T g
(d) fafem (iv) B U, HIgHA
E:
Options:
(a)—{ii), (b)—(i), (e)—(iv), (d)—(iii)
91394316613,
(a)—(i), (b)—(iii), (e)—(ii), (d)—(iv)
91394316614,
(a)~(iii), (b)—(ii), (e)—(iv), (d)—(i)
91394316615,
(a)—{iv), (b)—(iil), (e)—{i), (d)—(ii)
91394316616,

Question Number : 105 Question 1d : 9139434230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following motivation theories of management with their corresponding
propounders.

List I List IT
(a) Hierarchy of Needs theory (i) Victor Vroom
(b) Motivation-Hygiene theory (ii) David McClelland
(c) Learned Need Theory (iii) Abraham Maslow
(d) Expectancy Theory (iv) Frederic Herzberg

Code :
Options:

(a)—iv), (b)—(ii), (e)-(iil), (d)—~(1)
91394316617,

(a)—(iii), (b)—(iv), (e)(ii), (d)—i)
H1334Z16E15.

(a)—iil), (b)~(id), (e)—(iv), (d)~(1)
91334216619,

(a)(iii), (b)~(1), (e)-iv), (d)—(ii)
91234216620,

Question Number : 105 Question 1d : 9139434230 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

vae o Frfafad sfiro fagiat & fram 379 sfroeest & amg $ifse |
gl Tt I

(a) AR H TGHHA faga () fawetam

(by firr-ra=ea faga (i) efas faeltcle

(¢) Wag sravasa fag (iii) THTEH ATERA

(d) wearan faga (iv) Wefiw gofart

®e:
Options:

(a)—iv), (b)id), (e)-(iil), (d)—~1)
91394316617,

(a)—(iii), (b)—(iv), (e)(ii), (d)—(i)
91294216618,

(a)—(iii), (b)—(ii), (e)~iv), (d)—(i)
H1334Z16E149.

(a)—(iii), (b)—~(1), (e)—{iv), (d)—(ii)
91334216620,

Question Number : 106 Question Id : 9139434231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following characteristics with their notation as they appear in Table 1 K
(Common auxiliaries of general characteristics) in UDC, standard edition.

List I List IT
(a) 02 (i) Common auxiliaries of Materials
(by 03 (ii) Common auxiliaries of Persons
and Personal Characteristics
(e} 04 (iii) Common auxiliaries of Properties
(dy 05 (iv) Common auxiliaries of Relations,
Processes and Operations
Code:
Options:
(a)—(iv), (b)—(iii), (e)=(i), (d)—(ii)
Q1394316621
(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
Q15942166822
(a)—(iii), (b)—(i), (e)-(iv), (d)—(ii)
Q1294316623
(a)—(ii), (b)—(iii), (e)~(i), (d)—iv)
Q1394216624

Question Number : 106 Question Id : 9139434231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafeafiaa faswaatt & firem 1.8, o gewon & arfersr 1 K () & (g fasmanedt & od

AT wErE) 3 aun weRia 3 i 3 A B |
et 1 et 1

(a) 02 (i) amAr ¥ a9d g aeEE

(b) 03 (i) wafart qut safeT FasmaT % e G aaew
(c) 04 (iii) Tl % & G TEEw

(d 05 (iv) gaei, sfrmat it afEret & ad g weE
ETE
Options:

91394316621 BIV) (b)), (-, (d)—(iD)
1394316622, (b)), (c)(iid), (d)—~(iv)
91394316623, Ui (b=, (iv), (-

(a)—(ii), (b)), (e)i), (d)-iv)
91294216624,



Question Number : 107 Question Id : 9139434232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match the following colour codes by JISC funded ROMEO project with their respective
standardised approach to different rights.

List 1 List I1
(a) Blue (i) Archiving of pre and post print
(b) Gold (i) Can archive post-print
(c) Green (iii) Can archive pre-print
(d) Yellow (iv) Open access publishing
Code :
Options:

(a)—iv), (b)—(iii), (e)~(id), (d)—(1)
91294216625,

(a)—(ii), (b)—(iv), (e)—(i), (d)—(iii)
91394316626,

(a)—(i), (b)—(ii), (e)—(iii), (d)—liv)
91394316627,

(a)(ii), (b)—(1), (e)-(iv), (d)iii)
91394516628,

Question Number : 107 Question 1d : 9139434232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

o3 v, gro faemditfia ofrt feen gro steme e Prefafaa o 52 & frem fafia sl
o gafta Ak IurTat % a1y hif |

Al A I
(a) & (i) HEo g SR I suevit
(b) Tws (ii) TEUT I HURW 1
(e) (iii) HFI-gd HUE A
(d)y et (iv) Haa eyt
He:
Options:
(a)(iv), (b)—(iil), (e)(ii), (d)—(1)
91394316625,
(a)—(ii), (b)—(iv), (e)—(i), (d)—(iii)
91394316626,
(a)—(1), (b)—(i), (e)—(iii), (d)~(iv)
91394316627,

(a)—(ii), (h)—(1), (e)—(iv), (d)iii)
91394316628,



Question Number : 108 Question Id : 9139434233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the following information literacy models with their developers.

List I List IT
(a) Big 6 Model (i) Trevor Bond
(b) Eight WS Model (ii) Mike Eisenberg and Bob Berkowitz
(c) PLUS Model (iii) James Herring
(d) SAUCE Model (iv) Annette Lamb
Code:
Options:
(a)—(i), (h)—(ii), (e)—(iii), (d)—(iv)
21394216623,
(a)—(ii), (b)—(iii), (e}—(iv), (d)—(1)
91394216630,
(a)—(ii), (b)—(iv), (e)-(iii), (d)—(D)
91394216631,
(a)—(iii), (b)—(ii), (e)-iv), (d)—(D)
21394216632,

Question Number : 108 Question Id : 9139434233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frefefiaa = meman ieet 1 faam 379 sfoaesi & wg fifaw |
Tl gt I

(a) fam 6 dfea (i) ¢atafs

(b) U2 Es UH WisA (i) WIgH AgEAa N AT wewifaed

(¢c) o HisA (i) ==a g
(d) &g "z (iv) THe oira
E‘:
Options:
(a)—~(1), (b)—(ii), (e)—(iii), (d)—{iv)
91394316629,
(a)—(ii), (b)—(iii), (e)~(iv), (d)—(i)
91394316630,
(a)—(ii), (b)—(iv), (e)—(iii), (d)—(i)
91394316631,

(a)—iii), (b)~(iD), (e)—liv), (d)~(1)
91334216632,



Question Number : 109 Question Id : 9139434234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match the following memory measurement units with their corresponding equivalence.

List I List IT
(a) 1024 EB (i) 1BB
(b) 1024 ZB (ii) 1ZB
(c) 1024 YB (iii) 1 GpB
(d) 1024 BB (ivi 1YB
Code :
Options:
(a)—ii), (b)—(iv), (e)—(i), (d)—(iii)
91394216633,
(a)—(iii), (b)—(iv), (e)—i), (d)—(ii)
21294216634,
(a)=(ii), (b)—(1), (e)—(iii), (d)—(iv)
91394216635,
(a)—(i), (b)—(iii), (e)—(ii), (d)—(iv)
91394316636,

Question Number : 109 Question Id : 9139434234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Freafeafaa wf ara et 1 fiem st agn gamm @ Hifvm |
gt gt I
(a) 1024 .4, (i) 1t
(b) 1024 3.4, (i) 1.,

(¢) 1024 aré.aft, (i) 1 ft. 4,

(d) 1024 st s, (iv) 1amg.4t.

E T
Options:
01504316635, (a)—(ii), (b)—(iv), (e)—(i), (d)—iii)

(a)—(iii), (b)—(iv), (e)~(i), (d)—(ii)
91394316634,

(a)—(ii), (b)—(i), (e)—(iii), (d)iv)
91234216635,

(a)—i), (b)—(iii), (e)(ii), (d)—iv)
H1234516E36.

Question Number : 110 Question Id : 9139434235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Match the following in the context of a digital library.

List I List IT
(a) Migration (i) Replicating the functionality of an obsolete system
(b) Refreshing (ii) Transfer of data between two types of same storage system
(¢) Emulation (iii) Concerned with longevity of digital information
(d) Digital Sustainability (iv) Transferring data to newer system
Code :
Options:

(a)—(ii), (b)iii), (e)iv), (d)—(i)
91234216637,

(a)—(iv), (b)(ii), (e)—(i), (d){iii)
91394316635,

(a)—(iii), (b)—(iv), (e)(ii), (d)—(i)
91394316639

(a)—(D), (b)—(iii), (e)-(ii), (d)—iv)
91234216640,

Question Number : 110 Question Id : 9139434235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
feforea wmgatt % weu # Freafafian =1 firam e
Tt 1 T o
(a) oo (i) ws FEfad yomedt it wafesa f sfrwf s
(b) Fosfim (ii) U HHT WSTOT &Fd1 Tet g1 eIt o TRV o o1 HTehel 1 A
(c) FATH (iii) fefsres gumn i rlsitfaaa & gafa
(d) feforem aarwoftaar (iv) Fdiman wreft 3§ smwst 1 sam
% :
Options:

(a)—(ii), (b)—(iii), (e)(iv), (d)—(1)
913943166357,

(a)—(iv), (b)—(ii), (e)—(i), (d)—{iii)
91394316638,

(a)(iii), (b)(iv), (e)(ii), (d)—(i)
913394316639.

(a)—(1), (b)—(iii), (e)(ii), (d)iv)
91394316640

Sub-Section Number: 4



Sub-Section 1d: 913943214
Question Shuffling Allowed : Yes

Question Number : 111 Question Id : 9139434236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Arrange the following four stages of Carol Kuhlthau's (1991) six stage model of Information
Search Process.

(1) Formulation
(i}  Selection
(ili) Collection

(iv) Exploration

Choose the correct answer from the code given below :

Code :
Options:
(1w}, (iid), (1), (1)
91394216641,
(1), (ii), (iii), (iv)
91594316642,
(i), (i), (i), (iv)
91394316643,
(i), (iv), (i), (iii)
91394216644,

Question Number : 111 Question Id : 9139434236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HEAT G URT % HOS FaedTs (1991) F SRR =0 Aise * Freferfas o =i #t sraftm
Hifoe |

i) Freww
(i) =
(i) &wEw
(iv)  3F=<wor
fr= fau o £ A @ wh I R g
He:
Options:

(iv), (1ii), (ii), (i)
91234516641,



(1), (i), (1), (iv)
91334Z1664Z2,

(i), (i), (1), (iv)
91334516643,

(1n), (iv), (1), (iii)
91234516644,

Question Number : 112 Question Id : 9139434237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange the following States in ascending order of the year of enactment of their respective
Public Library Acts.

(1) Manipur
(ii) Lakshadweep
(iii) Karnataka

(iv) Arunachal Pradesh

Choose the correct answer from the code given below :
Code :

Options:

(i), (1), (ii), (iii)
91334516645,

(i1), (iw), (i), (1)
91334516646,

(1ii), (1), (ii), (iv)
91234516647,

(1), (i), (iii), (iv)
91334516648,

Question Number : 112 Question Id : 9139434237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafefiaa vsat =+t 395 gro ot geaser sifufem sifufrafia G om % o % sgam g
0 | safedd Hifm |

(i) g

(i) =GN

(i) FAfe

(iv) ITEvT= weu

fr= fau o 2 A @ T I o g
He:

Options:



(iw), (1), (ii), (i)

91334516645,

(1), (iv), (i), (1)
91334516646,

(i), (1), (ii), (iv)
91234516647,

(1), (i), (iii), (iv)
913345166458,

Question Number : 113 Question Id : 9139434238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange the following Associations according to ascending order of their year of

establishment.
(i) ILA
(11) ALA
(iii)  CILIP
(iv) IFLA

Choose the correct answer from the code given below :

Code :
Options:
(1), (i), (iv), (ii)
91=94316849.
(11, (iv), (1), (i)
91394216650,
(i), (iii), (1), (iv)
91=Z94216EE51.
(iw), (1), (ii), (iii)
91394316652,

Question Number : 113 Question Id : 9139434238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Frefifiaa Gt 1 371 ST % a6 % sER wgd U oA I saater i |
(i) MU
(i) AT,
(iii) ot =778, v amg. .
(iv) T8.0%.0A.T
3 o T e § @ e I A 9 -
2
Options:

(1), (iid), (iw), (i)
91334516649,

(1n), (iv), (i), (1ii)
91234516650,

(id), (iii), (1), (iv)
91334516651,

(iw), (1), (ii), (111)
91334516652,

Question Number : 114 Question 1d : 9139434239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Arrange the following indexing techniques according to their year of origin.
(1) COMPASS

(iiy SLIC
(iii) KWIC

(iv) Systematic Indexing

Choose the correct answer from the code given below :

Code :
Options:

(1), (iid), (iw), (i)
91334516653,

(i), (111), (i), (1)
91334516654,

(1), (1), (1ii), (iv)
H912334516655.

(1w}, (i1), (i), (1ii)
H1334516E5E,



Question Number : 114 Question Id : 9139434239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Preferfiaa srprmften et i 37 399 & 98 & I77aR sgafey Hifaw |

(i)
(i) oo
(iii) ferarep
(iv) WOITEAITd SAsRHOteRoT
fr= few o e A & o I H TP
% :
Options:

(1), (iid), (iv), (ii)
91394316653

(iw), (iid), (i), (i)
91394316654

(id), (i), (iii), (iv)
91394316655,

(iw), (id), (1), (iii)
91394316656,

Question Number : 115 Question Id : 9139434240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the following metadata standards in order of their year of development.
(i)  Resource Description and Access
(ii) Resource Description Framework

(iii) Metadata Object Description Scheme

(iv) Text Encoding Initiative

Choose the correct answer from the code given below :

Code :
Options:
(ii), (iw), (1), (iii)

H1234516E57.

(i), (i1), (iii), (i)
91334516658,

(11), (i), (1), (iv)
91334516659,



(1ii), (1), (iw), (i)
B91334Z16660.

Question Number : 115 Question Id : 9139434240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frfefiaa der@er amet %t 37 fasma % af % w9 § sxafee Hifsw |
(i) HagA faam ot afiom

(i) FETeA famo gfen

(iii) #erser Iy faamo whm

(iv) 918 FHeF TEd

Fr= fw o e # & wd I gh
% :
Options:
(ii), (iw), (1), (iii)
21394216657,

(iw), (ii), (iii), (1)
91334516658,

(ia), (i), (1), (iv)
91334516659,

(i), (1), (iw), (i)
91334516660,

Question Number : 116 Question Id : 9139434241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the following terms ‘letter-by-letter’.
(i) Lead compounds
(ii) Leadership
(iii) Leading edges

(iv) Lead oxide

Choose the correct answer from the code given below :

Code :
Options:

(1), (11}, (1), (1v)
91334516661,

(1), (iid), (iw), (i)
H12334516662,



(1), (iv), (iii), (i)
91334516663,

(1), (1), (1v), (1)
91334516664,

Question Number : 116 Question 1d : 9139434241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Prferfiaa wet =it “sram-ufe-sred’ swaferm Hifsg |
(i) Lead Compounds (effig #mrdss)

(ii) Leadership (=ftetfim)
(ili) Leading edges (&ffén ufers)
(iv) Lead oxide (¢18 sAf#am3s)

3 fow Y e § @ W I R g
% :
Options:
(1), (1i), (1ii), (iv)
91394316661,
(1), (111), (iw), (11)
91394316662,
(1), (iw), (iii), (1i)
215394216663,
(L), (i, (iv), (iii)
91394316664,

Question Number : 117 Question Id : 9139434242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the following components in the order of their significance as stated by E.J. Coates.
(i) Material
(i) Part
(iii) Aection

(iv) Thing

Choose the correct answer from the code given below :

Code :
Options:

(i), (1), (1ii), (iv)
H91334516665.



(1), (1i1), (iw), (i)

B1334Z166E66.

(iv), (i), (1), (ii1)
H91334516EE7.

(i), (i), (iv), (i)
H91234516EEE.

Question Number : 117 Question Id : 9139434242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafeafiaa auest =t 4.9, *iga gro 2w sl 33% vewm % sgan sqaftm ifsm |

(i) =t
(i) W
(iii) e
(iv) =%
A= fow e g # & wt I A gfw
C T
Options:

(i), (1), (iii), (iv)
91394316665,

(1), (iii), (iv), (ii)
91394316666,

(iw), (ii), (1), (iii)
91394316667

(iid), (ii), (iv), (i)
91394316668,

Question Number : 118 Question 1d : 9139434243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Arrange the following books authored by S.R. Ranganathan in order of the year of their
first publication.

(i) Headings and Canons

(ii) Elements of Library Classification

(iii) Prolegomena to Library Classification

(iv) Philosophy of Library Classification

Choose the correct answer from the code given below :

Code :



Options:

(1), (1), (i), (iv)
H1334Z16EE9,

(iii), (i), (iv), (1)
91334516670,

(i), (11i), (1), (1)
91334516671,

(iii), (1), (ii), (iv)
1334516672,

Question Number : 118 Question Id : 9139434243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

w1, Tty g feflgn Feafafaa geasi it 33 vz vomm & af & s 4§ syafeyg fifsw |
(i) 2w e F

(i) uelt e argelt FenfafaeTm

(iii) SrerTrAT g el aemfafeene

(iv) frerardt sie sl serifasm

A= fow e g # & wt I A gfw
C T
Options:
(1), (1), (1), (iv)
913943166649,
(1ii), (i), (iv), (1)
91394316670,
(iw), (iid), (1), (i)
91394316671,
(i), (1), (i), (iw)
91394316672,

Question Number : 119 Question 1d : 9139434244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following steps of procedure for classifying a simple book as mentioned in CC
7' edition.

(i)  Title in Kernel terms

(ii) Expressive title

(iii) Title in Facet Numbers

(iv) Title in Standard terms

Choose the correct answer from the code given below :
Code :

Options:

91304316673, @D, (), (i)

(id), (1), (iv), (iii)
91394316674,

(11), (iw), (1), (iid)
H1234516E75.

(i), (i), (iii), (iv)
1334516676,

Question Number : 119 Question Id : 9139434244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e arffetor & 79 Hehn & a1 Sftfa w wrag geas & arffeon % Frafafaa ot #t sgafem
$ifor |

(i) ot vgt 4 s
(i) fieafeaae smemn
(i) W@ gEms § e

(iv) W= Tgf # e

A fom e e 7 & W I H gh
% :
Options:
(1), (11), (iv), (11d)
91394316673

(i1), (1), (iv), (ii1)
91394316674

(11), (iv), (1), (iid)
B1334516675.



(1), (11), (1ii), (iv)
B1334Z1667E6,

Question Number : 120 Question Id : 9139434245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange in order the following pillars of SCONUL Seven Pillars of ‘Information Literacy
Model’.

(i)  Plan

(ii) Manage
(iii) Gather
(iv) Scope

Choose the correct answer from the code given below :

Code :
Options:

(i), (1), (iii), (i)
12334516677,

(iw), (1ii), (i), (ii)
1334516675,

(i), (iv), (1), (i)
B91334516673.

(1), (iv), (i), (i)
91234516680,

Question Number : 120 Question 1d : 9139434245 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“H= ST AT % Tehige |rd waul & Frefafan s s wmgan saafen fif |

(i) =
(i) &Y
(i) A
(iv) ffa
fr= fgu o e F @ vt I H gh
we:
Options:

(iw), (1), (iii), (i)
B1334516677.



(i), (111), (1), (i)
91334516675,

(i), (1v), (1), (1)
91334516673,

(1), (iw), (ii), (1ii)
91234516650,

Question Number : 121 Question Id : 9139434246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the following steps of “Change process” as mentioned by John Kotter.

(i)  Creating a vision for change
(ii) Creating urgency
(iii) Removing obstacles

(iv) Forming a powerful coalition

Choose the correct answer from the code given below :

Code :
Options:
(1, (1i), (iii), (iv)
91394216681,
(i), (iii), (iv), (i)
21394216682,
(i), (iw), (1), (iii)
915943166535,
(1), (iai), (i), (iv)
91394216684,

Question Number : 121 Question 1d : 9139434246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

S gt grr aun afifg “aftads s & Fefafaa sl # sqafem Fifvg |
(i) ftads &g gfee gfam +on

(i) Teshifereha ghaa s

(iii) =rea i gEEn

(iv) vierrameft Teae a4

Fr= faw o e # @ v I g

He:

Options:



(1), (11), (1ii), (iv)

91334516681,

(11), (i), (iv), (1)
913345166582,

(i), (iw), (1), (iii)
H1234516E6E3.

(1), (iid), (ii), (iv)
91334516654,

Question Number : 122 Question Id : 9139434247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the following webmails according to the first year of launching.
(1)  ¥Yahoo mail

(ii) Hush mail
(iii) G mail

(iv) Proton mail

Choose the correct answer from the code given below :

Code :
Options:
(1), (1i), (1ii), (iv)
21394216685,
(1w}, (i), (ii), (1)
91594316656,
(ix), (aii), (i), (iv)
91394216687,
(11i), (i), (iw), (i1)
21394216688,

Question Number : 122 Question Id : 9139434247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



fFrefefiga dete i 37 1& fofy 5 % o & sram sgafem fifs |

(i) = A
(i) &9 HS
(i) ft T
(iv) WEH o=
fr=r fgu o e § @ wdlt I 9
e
Options:
(), (i), (iid), (iv)
91394316685,
(iv), (iid), (ii), (i)
91394316636,
(id), (i), (1), (iv)
413943216687
(ii), (1), (iv), (ii)
91394316688,

Question Number : 123 Question 1d : 9139434248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Arrange the following library automation softwares according to the year of their first
release.

(i)  e-Granthalaya
(iiy NewGenLib
(iii) Soul

(iv) Koha

Choose the correct answer from the code given below :

Code :
Options:
(1), (ii), (iii), (iv)

H1334Z16EE89.

(id), (iii), (1), (iv)
91334316630,

(1), (1), (1v), (1)
913345166591,

(iii), (1), (ii), (iv)
B13345166392.



Question Number : 123 Question Id : 9139434248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafefiaa grasem were afvesm st 395 vgelt @r Sl 29 % s | sraftm fifi

(i) FuuTEE
(i) =gofera
(i) =l
(iv) et
fr= fou o g2 # © ot I H g
e
Options:
(), (i), (iid), (iv)
91394316689
(i), (iid), (1), (iv)
91394316690,
(i), (1), (iv), (iii)
91394316691
(ii), (1), (i), (iv)
91394316692,

Question Number : 124 Question 1d : 9139434249 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Arrange the following libraries according to their year of establishment.
(i) Bibliothegque Publique (Pondicherry) (Now Romain Rolland Library)

(ii) Connemara Public Library, Madras
(iii) Asafia Public Library, Hyderabad (Now State Central Library, Hyderabad)

(iv) Publica Livraria, Panaji (Goa) (Now Krichnadas Shama Central Library)

Choose the correct answer from the code given below :

Code :
Options:

(1), (11), (1ii), (iv)
91334516633,

(1), (iv), (iii), (1)
91334516654,

(id1), (ii), (iv), (1)
91334516635,



(1w), (1ii), (1), (id)
B91334Z16636.

Question Number : 124 Question Id : 9139434249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frferfiaa gererrert st 3Rt Tome @ & wed gU W A sxafeua Hifa |
() fafemtes veedte (wife=dt) (@ 089 Tevs wmd)

(i) wimT i @, g

(iii) sraTfEan afeer amgedl, Bquang (3@ w2 dwga aged, deue)
(iv) afeeen Featfoan, worsft (ra) (a7a Feoigra wmT d=ga aged)

Hre feu o g2 & © @t I H g
% :

Options:
(i), (i), (11i), (iv)
21294216693,

(1), (iw), (i), (11)
913345166394,

(11i), (ii), (iv), (1)
91334516655,

(1v), (1ii), (1), (iD)
H1334516636.

Question Number : 125 Question Id : 9139434250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange the following important international events according to the date and month of
their observations/celebration every year by UNESCO.

(i)  World Teachers Day
(ii) International Day for the Universal Access to Information
(iii) International Literacy Day

(iv) World Book and Copyright Day

Choose the correct answer from the code given below :

Code :
Options:

(1w), (1ii), (ii), (1)
B91334516637.



(iw), (1), (ii), (i)
91334516635,

(1), (1), (1), (1v)
913345166599,

(1), (1), (i), (iv)
91234516700,

Question Number : 125 Question Id : 9139434250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafefiaa wewmgl siadsda wematt #it et g 399 wame s i arfie 3 9 % s
safeyd $ifs |

(i) oS d=d 2

(i) TS 8 B 3 YFHadd T g FRHTH
(iii) gretima faet 2

(iv) 978 g% U2 FMER 3

fr=r feu o g2 # @ wdt I H g
Hhe:

Options:

(1w ), (iid), (ii), (i)
H1334Z166597.

(iw), (1), (ii), (iii)
91334516638,

(11), (1), (1), (iv)
9133451665945,

(i1), (iii), (1), (iv)
2912334516700,

Sub-Section Number: 5
Sub-Section Id: 913943215
Question Shuffling Allowed : Yes

Question Number : 126 Question Id : 9139434251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Assertion (A) : In an information economic society, much of the returns to information are

distributive.
Reason (R} : Private returns to information can often exceed social returns.
In the context of these two statements, which one of the following is correct ?

Code :
Options:

(A) is true, but (R) is false.
91334516701,

(A) is false, but (R) is true.
Q1594216702

Both (A) and (R) are false.
Q13943216703

Both (A) and (R) are true.
Q1294216704

Question Number : 126 Question Id : 9139434251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e (A) - U g1 anfde gurs & gaan & it wfrea faqorie g 2
7% (R) : g1 o Freft wfereer s e wforee & st & o 2
Ioda g w1 & e H, Frefofaa # @ sRmwd 2 2

e
Options:

(A) & 2, 9tg (R) Teid 2 |
91394216701,

(A) TeTd &, 9 (R) T8 2 |
91394316702,

(A) A (R TeAd & |
1394316703, 7 )l g

(A) 3t (R |
1394316704, ¥ )2 T &

Question Number : 127 Question 1d : 9139434252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A) : Infringement of copyright of digital materials is not a concern for rights
owners.

Reason (R) : The cost of copying electronic resources are trivial and the copies can be easily
disseminated.

In the context of these two statements, which one of the following is correct 7

Code :
Options:

(A) is true, but (R) is false.
Q13943216705

Both (A) and (R) are true.
A1=29421670E8,

(A) is falze, but (R) is true.
Q1294216707

Both (A) and (R) are false.
Q13942167 08,

Question Number : 127 Question Id : 9139434252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
afirmey (A) : Fefaes amfiet + sfafaenfusr =1 sgum sfafaeafimr wfiei & foao e = fae
TR
T (R) : geiag e et it gfa a9 1 wrra 9gd w9 2 3ft ufai i smard @ yanfa feen s
CETIR A
o 3wl % wed #, Prfeflaa & @ SRmad 20

He:
Options:

(A) T B, (R) Tefd & |
91394316705, A

A) (R I
91394316706, (&) 3R (R) T Tt &

(A) T 8, 9O (R) &&l 2 |
91394316707,

A) (R TeAd & |
91394316708, @ 3 ®) 3 g

Question Number : 128 Question Id : 9139434253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A) : IFLA advocates for copyright reform at WIPO.

Reason (R) : Outdated copyright laws prevent libraries from performing their basic
functions.

In the context of these two statements, which one of the following is correct ?

Code :
Options:

(A) is true, but (R) is false.
H9133451670%9,

(A) is falze, but (R) is true.
91594216710,

Both (A) and (R) are true.
Q13943216711

Both (A) and (R) are false.
A1=294216712.
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Question Number : 129 Question 1d : 9139434254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Assertion (A) : Patents provide incentives to individuals by recognizing their creativity.
Reason (R) : Patent provides patent owners with lifetime protection for their inventions.
In the context of these two statements, which one of the following is correct 7

Code :



Options:

Both (A) and (R) are true.
Q1294216712

Both (A) and (R) are false.
Q1394316714

(A) is true, but (R) is false.
91234516715,

(A) is falze, but (R) is true.
91294316716,
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Assertion (A) : e-Shodhsindhu develops a formidable collection of e-journals, e-journal
archives and e-books on perpetual access basis.

Reason (R) : Perpetual access facilitates the participating university libraries to access all
journals right from their first issue.

In the context of these two statements, which one of the following is correct ?
Code:

Options:

(A) is true, but (R) is false.
Q1294216717



(A) is falze, but (R) is true.
Q9159421 6718,

Both (A) and (R) are true.
Q13943216719

Both (A) and (R) are false.
129421720,
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Correct Marks: 2 WrongMarks: 0
Assertion (A) : All LIS journals published in India are rigorously peer reviewed.

Reason (R) : Peer reviewing is seen as a key quality control mechanism for a reputed
journal to keep it amongst the best in its subject field.

In the context of these two statements, which one of the following is correct ?
Code:

Options:

(A) is true, but (R) is false.
A1=294216721.

(A) is falze, but (R) is true.
Q1594216722



Both (A) and (R) are true.
1394318723,

Both (A) and (R) are false.
Q1394216724
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Assertion (A) : The entry element in Leading Section has the potency to decide the position
of an entry among the various entries in a catalogue.

Reason (R) : The potency of entries, sorted letter by letter or digit by digit goes on increasing
rightwards and upwards.

In the context of these two statements, which one of the following is correct ?
Code :

Options:

(A) is true, but (R) is false.
G12a42168725,

(A) is falzse, but (R) is true.
Q15942167 26.

Both (A) and (R) are true.
Q13942167 27.



Both (A) and (R) are false.
1394218728,
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Assertion (A) : Resource Description and Access (RDA) lacks potential to revolutionize
library cataloguing in spite of its expansive element sets and vocabularies.

Reason (R) : RDA is primarily designed as a content standard.
In the context of these two statements, which one of the following is correct ?
Code :

Options:

(A) is true, but (R) is false.
13943218729,

(A) is falzse, but (R) is true.
Q1=2943167320,

Both (A) and (R) are true.
A1=294216721.

Both (A) and (R) are false.
Q1394316732
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

iy (A) - garee faaon i sfirm (amdhu,) soe saawaTl vew ay=y ot veg Wen &
ATag qEaehrerd SEERm § wifd @ amed T v #

7% (R) : 3w, =t wafiss d o fawg-asg ame & w9 4 sftfea fenmn 2

9w g Fl & Ged |, Frfeflaa ¥ @ sRmad 2 2

C T

Options:

(A) T B, 9 (R) Tera 2 |
91394316729,

(A) e 8, 9 (R) T8 2 |
91394316730,

(A) 3 (R I
91394316731, ) ) 3T §

(A) 3 (R Teld & |
91394316732, ) )3 g

Question Number : 134 Question Id : 9139434259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : In Colon Classification Ed. 6, Posteriorizsing Common Isolate ‘Profession (b)' is
an Energy Common Isolate.

Reason (R) : It is a manifestation of action.
In the context of these two statements, which one of the following is correct ?
Code :

Options:

(A) is true, but (R) is false.
915394216733,

(A) is false, but (R) is true.
Q915942167324

Both (A) and (R) are true.
Q1=294=21672E.

Both (A) and (R) are false.
G1394218736.

Question Number : 134 Question 1d : 9139434259 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



3fireper (A) : e afferton o T 6 o Wae] qTaT-a Ushel WbIE (oft) et g v # |
% (R) : 98 Sl 1 Tehd e & |

I 3wl & e #, Fefafaa d a shwmad 2 2

C T

Options:

(A) T8 B, T (R) Teid 2 |
91394316733,

(A) T &, WG (R) &t 2
91394316734,

A) (R I
91394316735, (&) 3R (R) T Tt §

A) (R Teld & |
91394316736, @& 3R (B T g

Question Number : 135 Question Id : 9139434260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Assertion (A) : All the main classes enumerated in Colon Classification, Ed. 6 are coordinate.

Reason (R) : C.C. has secured the mutual exclusiveness of the classes by avoiding the
overlapping of subdivisions.

In the context of these two statements, which one of the following is correct ?

Code:
Options:

(A) is true, but (R) is false.
1294218737,

(A) is falzse, but (R) is true.
Q15942167328

Both (A) and (R) are true.
Q13942167 39,

Both (A) and (R) are false.
Gl1394321:740.
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Assertion (A) : In Unicode, the character encoding reflects the way the coded character set is
mapped to bytes for manipulation in a computer.

Reason (R) : Unicode is a standard that defines all the characters needed for writing the
majority of living languages in use on computer.

In the context of these two statements, which one of the following is correct 7
Code :

Options:

Both (A) and (R) are true.
Q1394316741



Both (A) and (R) are false.

91334516742,

(A) is true, but (R) is falze.

91334516743,

(A) is false, but (R) is true.

291594216744,

Question Number : 137 Question Id : 9139434262 Question Type: MCQ Option Shuffling: Yes Display Question Number :
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : PRECIS was originally developed by the British National Bibliography,
replacing the chain indexing, to provide subject index for UK/MARC records.

Reason (R) : Chain index was not successful for production of subject index by computer.

In the context of these two statements, which one of the following is correct ?

Code :

Options:

(A) is true, but (R) is false.

H91334516745,

(A) is falze, but (R) is true.

91334516746,

Both (A) and (R) are false.

912334516747,

Both (A) and (R) are true.
A1=294216748.
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Assertion (A) : Compound terms in a thesaurus are more exact and specific than single
terms used in combination to represent the same concept.

Reason (R) : Compound terms are able to prevent false drops and to ensure good precision.

In the context of these two statements, which one of the following is correct ?

Code :
Options:
(A) is true, but (R) iz false.
Q1294316749
Both (A) and (R) are true.
Q159421 6750,
(A) is false, but (R) is true.
Q912942316751
Both (A) and (R) are false.
1394316752,
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Correct Marks: 2 WrongMarks: 0

Assertion (A) : Users, more or less, have same access points and can broaden up or narrow

down their search, both in OPAC and Card Catalogue.

Reason (R) : In OPAC, almost every single part of the bibliographic record is accessible
through keyword searching which its traditional counterpart cannot.

In the context of these two statements, which one of the following is correct ?

Code :
Options:
(A) is true, but (R) is false.
91394218753,
(A) is false, but (R) is true.
Q1394316754
Both (A) and (R) are true.
Q1294216755
Both (A) and (R) are false.
Q1394321675 E.
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Assertion (A) : Consider for example that ‘A" writes down ‘7’ on a paper with small font size
and uses FAX machine to transfer the page to ‘B’. ‘B’ sees a distorted ‘7" and decodes as ‘9.

Reason (R) : Disruptive functioning of FAX machine.
In the context of these two statements, which one of the following is correct ?

Code :
Options:

(A) is true, but (R) is false.
H1334Z16757.

(A) is falze, but (R) is true.
91394216758,

Both (A) and (R) are true.
Q13943216759

Both (A) and (R) are false.
A1=2942167e0,
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Assertion (A) : “Social tagging’ technique used in some libraries allows students to tag books
and other information resources with their own search terms.

Reason (R) : Introducing social tagging methods to the traditional library settings usually
helps to improve ‘patron use’ of library and acquire knowledge.

In the context of these two statements, which one of the following is correct 7

Code :
Options:

(A) is true, but (R) is false.
Q13943216761

(A) is false, but (R) is true.
H1334Z167EZ.

Both (A) and (R) are true.
G139432187E3.

Both (A) and (R) are false.
Q1394216764
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Assertion (A) : The emergence of the information economy, in an interdependent world,
played an ingignificant role in the development of transborder dataflow.

Reason (R) : Most of the data transmitted in transborder dataflow belongs to business and
finance using both publicly and privately available channels.

In the context of these two statements, which one of the following is correct 7

Code :
Options:

(A) is true, but (R) is false.
Q139431676

(A) is false, but (R) is true.
H1334Z167EE,

Both (A) and (R) are true.
1394218767,

Both (A) and (R) are false.
Q13942167 EE,
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Assertion (A) : Researchers in the behavioural sciences can describe variables in ratio scale
form.

Reason (R) : Ratio scales have an absolute or true zero measurement.

In the context of these two statements, which one of the following is correct ?

Code :
Options:
(A) is true, but (R) is false.
Q1=2942316769,
(A) is false, but (R) is true.
1394216770,
Both (A) and (R) are true.
Q1294316771
Both (A) and (R) are false.
1394316772,
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Assertion (A) : Employers of library and information personnel remain responsible for
providing staff development programmes and support for continuing education.

Reason (R) : Professional and continuing education of the librarian is indispensable to
ensure adequate services.

In the context of these two statements, which one of the following is correct 7

Code :
Options:

(A) is true, but (R) is false.
Q1394316773

(A) is false, but (R) is true.
B91334516774.

Both (A) and (R) are true.
91394216775,

Both (A) and (R) are false.
Q13943216776
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Options:

(A) TH B, (R) Terd & |
Q1394216773 m

(A) Ted B, (R) W&t & |
Q1294216774 e

A) F (R I
91394316775, ) 3R (R) 3 7 8

A) 3 (R TeAd & |
91394316776, ) 3 R) ¥ g
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Assertion (A) : The newly emerging libraries are being designed to become active agents of
learning.

Reason (R) : Participative new media tools and learning commons are transforming the
library's physical and virtual spaces into collaborative work areas.

In the context of these two statements, which one of the following is correct 7

Code :
Options:

Both (A) and (R) are true.
Q13942167 77.

(A) is true, but (R) is false.
Q1=29421677E.

(A) is falze, but (R) is true.
Q1294216779

Both (A) and (R) are false.
Q13942167 50.
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Options:

A) 3 (R I
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(A) Tt 7, (R)Ted 2 |
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A) 3 (R TeAd & |
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Cuesticon Label | Comprehension

Read the passage given below and answer the questions based on your
understanding of the passage :

School lunches are a common topic when Japanese reminiscence about their school life.
There is even a small museum in the Ministry of Education, Culture, Sports, Science and
Technology in Japan (MEXT) where the typical school lunches of each generation are
replicated. This exhibition receives favourable reviews from visitors, who make comments
like, “It was great for conversation with my child”, and, “It brought back memories of thoze
days”. In Japan “eating from the same pot” signifies fellowship and bonds, and this phrase
can be applied all around the country in the case of school lunches. This article looks into
the School Lunch Service, which the Japanese hold so close to their hearts.

Modern school lunch services are widely defined as any sustenance given to children under
school administration, but in Japan, it originated from local civilian efforts to provide lunch
for poor children at the end of the 19th century. Later on, before and during world wars,
school lunches were recommended by the Ministry of Education (MOE) as a way of
improving the physical health of school children. Starting from the more accessible major
cities, school lunches were provided with the goal of reaching out to as many children as
possible, but it was only after the establishment of the School Lunch Law, proclaimed and
enacted in 1954 under reconstruction following World War 11, that the Japanese school
lunch program gained lawful authority and was provided nationwide.

The beginning of charity school lunch services in Japan can be traced to 1889, where
lunches were provided by a Buddhist confederation for poverty-stricken children in an
elementary school in Tsuruoka City, Yamagata Prefecture. The majority of school lunches
in the Meiji (1868 — 1912) and Taisho (1912 — 1926) periods were limited to impoverished
children and had the effect of encouraging them to attend school. Several examples were
also seen in Akita, Shizuoka, Iwate and other prefectures, which were funded by school or
district budgets as well as private donations. The meals usually consisted of a white-rice ball
and miso (soy bean paste), with occasional pickled vegetables, or hot soups. In a
documentary photo, recipient children can be seen eating in the corner of the school
kitchen, while better-off classmates ate their packed home-made lunches in the classrooms.

Sub questions
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What does the phrase, “eating from the same pot” signify in Japan ?

Options:
Fellowship and unfetter
91394216781,
91394316752, Stretch to each other’s heart
Fellowship and bonds
91394216783,
91394316754, | 2mishment
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From where was the concept of ‘modern school lunch’ originated in Japan ?

Options:

MOE, Japan
91394316785,

Human Rights Organizations
91394316786, Rig g
91594316757 he efforts of the local civilians

Private School Management
91394316788,

Question Number : 148 Question Id : 9139434274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
What was the key goal of introducing school lunches by the MOE in Japan ?

Options:
51394316789, To control starvation

To reach out to as many children as possible
Q1294316790 Y

To worsen the physical health of school children
Q1294316791

To improve the quality of prim education
A1=294216792, P d tyotp ary
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Who was the first beneficiary to avail the charity school lunch service provided by Buddhist
confederation for proverty-stricken children in Japan in 1889 ?

Options:

Higher Second students in Tsurucka City, Yamagata Prefecture
912394316793, & ay w a8

Elementary School in Tsuruoka City, Yamagata Prefecture
Q1=2942316794, v 8

Higher Secondary Schools in Meiji and Taisho
91394216795,

Upper Prim School in Akita, Shizuoka, Iwate
91Z943167 96, Ppe ay
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What does the meal in school lunch usually contain ?

Options:

White-rice ball and miso with occasional picked vegetables, or hot soups
913942167937,

A ball of sushi and sashimi with vinegar mix (made with sugar and salt)
21394216798,

A ball of Ramen noodles served in a soy sauce or miso soup
91394216793,

Tempura, a Japanese fried snack
Q1294216800 P pan
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